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1. GpgGurGeustaer / safle

A)  sLeveump LI(EUFTI'_@L_ITGGFFQJFT&":GEG'T'-LI@UFFLGL_FTLS]QTW&I:D- Geueft  HED
2 Lugdlears Ufssiul g ®eeio ' ' '
B) 2 lugd geunyhsepaiu Galiges Lsﬁsﬂ@ |
C} OGurissrass Spsad, uralyd EHsHGD, JOTE s absalls
s T s flameabd srhslu_aldee
D} @eeu seendpgid.
_ Iﬁ radiolarians

- A) marine rhizopoda with the body protoplasm is divided irito an outer and an
_Inner parts

B)  the inner one is being enclosed in a porous capsule
C).  pseudopodia are slender and radiating but not suppoﬁed by stiff axes

D}  all of these.

2. Nemeumeussteuppelr ergl mestestit QuTTMAeNQUIT suesw sTihoe

A)  addolliquid, - B)  &Cymblur
C) Glj;l’i‘(gl_l"f&fﬂﬂll.lﬂ' D) dergmeneei.

Which one of the following is a freshwater foraminifer ?

A} Elphidium B) Gromia
C). Nodosaria D) Clathrulina.
3. o1 & b guq.uusml_uﬂe}) aflems GruCurlefiur preéng smaaufasserms

Ssaiu Qereng 2

A) B0 Caugelle geengeflen oy

B) Caligedld sTeiu@D Senser

C) easaevear LOHDID Ok euSWTET QLUTLIGSTHET

D}  gpLligedn saili emolny.

- F 652 ,_]_~17 R . : [ Turm over
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The order radiolaria is divided into 4 suborders based on
A} the arrangement of the pores on the central capsule

B) the number of chambers in the capsule

C)  the number and type of pseudopodia

D) the composi'tion of éhell.

sréﬂugj prigear Und@ser abs allobgadisr glydiebs Hoss acmemmrivy
ughisellellBha L LU QeTers 1

A) fQesder . . . B BN Gwir e evevtir

C) phwelesLev D) - gssligngflum.

The pyramids of Egypt were carved from the limestone deposifs made by .the

tests of
A)  arcella B}  miliolina_
~C)  nummulites " D) difflugia.

ue sopsaer Gy CrisGamiigdh e af gl eraoiuGalng 2
A) - sotGeuren@Geuflum B) GrrCLremflur
C) OL&avmGafll D) BeCergCymblur.

In which of the following is the shell multilocular consisting of chambers

_ arrariged'succeséively,in a straight line ?

A) Floscularia B) Nodosaria

C)  Textularid ‘ D}  Allogromia.
urgGuélugHer sreoTluRDd G evpaeilds SEsamaneT aeieuTn) saperd ?

A ACurfsb -~ B) OGuLreCrrard fgb
Cl} eme&sGerdlen D) s@maeh feb.

The coordinated movements of cilia in paramecium is called

A) Rheorhythm B)  Metachronal rhythm’

C)  Cyclosis D) Contractile rhythm.
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Grpjg) @@etm_emlu L&g&@m q(BU{rL.(BL_rr@&nmrmﬂm @jso‘m @lﬂbpea@m @L_eﬁ@m u‘f!g,a,@m
Q_QJL!L]&GTWE: uwmu@eﬂm@ * L A SN R

A) @(ernﬁ]g]ﬂmm : - ' B) sré),o%iihﬁ;uifn* Lo

- G @ébw;&hﬁ | . - D) aﬁm@mﬂ@@;m&\ﬁrr

The shell_eg : p‘lanlktoni(:j;_progozojah having ﬂodti-ng c_i_evié_és in.-'}‘.hc‘a' f@ym of vaéuélcs
and spines is L& | . o
A Globigerina. Cm EII.JFE,iqi..‘ﬁE‘w

Q) Ac;rq_m;é»» o | D)  Allogromia. - -

_rbet'STthff'r'm;b@fp sﬂ'_égﬁrﬂé{; &IT T ILIHID Qpngrrlﬁlcéﬂ.@_urjsé;‘sﬁé‘? o o ’

3
o

A)  H0Ceur@Gymiblur. -‘ By Crpr@umeriliur

Q) SuGamavgGufur D) GubguperAl.

The forampgifcr":pgcl_;fﬂ_fmg both in the freShwéter and in the marine 'Watcij is
. Fe ' . '

A)  Allogromia B]  Nodosaria .

# T

f

C) Floscularla . D) Textuland.

QurgmfleaN@ugralics 5rr_c;§ggy®tb @QLOCUWTES 2 plL el 2
Al GorQuirGuimgwir o ' - B) DOOQ?UQQW—QQW&MH

C)  asGerGumgur | D) OyigeGsmGLmgur.

The locomotory. organelle :of foraminifera is

A)  Lebopodia . . . B) Filopodia - :

C)  Axopodia ' - D) Reticulopodia.

[ Turn over
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10. @GamiGmfes wppibd urellavCLruwdaenr abs auflmsomw srtbag
A) CoorGursm ‘ B) OurprdefCuyr °
Q) gﬁsﬁ@mn@snmn ' | | D) (‘Bt}unJrr(erﬂlqur.
Globigering and polysiomella belong to the order |
Al Lobosa B) . Forainitl_ifera‘
C) Heliozoa | D} . Radiolaria.
11. Qeusflpnl.() sedoeooimg eiuurr@',&l agl ?
A)  yUGlers Gk éveur B)  evapweverflor
Cl  SSICymedfior . D) 'GLDITGdTm‘%o%LﬂdU
The exotic glass rope sponge is
A) Euplectella . B) Hyalanema
C) Pheronema | D) ' Monorphis. _
12, . wUlen&L_coeum evLImEhs QLITGIouUTs aetenGleueinry e pesiu@dlng
A)  alare L bhamenl B) &L é oblrer
C)  &Lé 2l . D)' a6 AN,
The sponge Euplectella is commonly called as
'A] venus flower basket B) ‘sea fem -
C)  sealilly | D) seafan.
13, ousTdur adrerQeusitg ePuiuGHDg 2
A} Gurflesr Gurtéeadey weallgen B) &L g
Q) sLd Qeushendl - ' D) &L 2 (menen.
Physélia is commonly known as
A) Portt;gese man-of-war B) sea float

C) sea cucumber - D) sea potato.
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%s\waﬂ@mrfsuﬂmm ér'ez'srqter?msér@ fwoupdng

A) sL& oA ' B)  &Lé Guenrt
C) @obs walgaidraiyé D) fleiy e,
Alcyonium ts commonly known as | | E
A) sea fan - . .B) seapen

C) - dead man's fglge_r D) - red coral.

srir@ameafiuralen mg@ﬁmr‘r Gebtes 1
A) s Cuesrm ; ' ‘Bl &Lé ol
‘C) 2. i @l UeusTD ' D) dlsliy ueuend.

Gorgonia s otherwise known as

A) sea pen - . B) seafan

16.

C) organ plpe coral D)}  red coral.
SeTaupid snpbmysenen &@mﬁé\é) Qarefe @
L Qurgeurs;g P sleefld uae GaugBarbpld _&W@jfju@:én]g)gj
I, @@qt_eﬂaalﬁ G‘lu@burrgu@ esl_mmrrp 2 Bifleeir |
1l QL;IT@G}J_I’I’E» :.'@@Lqua&&efr;%q&wéé'@fj Qcymﬂﬁg@&,ggéﬁa&@m
i\ QupbLTestenwwrer @l eSlaef @@@&@m.meﬂ G]}th)@jsfnmm.

@eudge :
Al Tolpb sflurang " 'B)  1wbmid 1 sfureree
Q) L M wppd I sfireraeu , D) SjmasH g sflurereney.

Qc-msider_ the folloMn% statements :
L Polymorpl"_ﬁs‘rri is often seen in coelenterates
II.  Coelenterates are mostly marine
III.  Coelenterates usually exhibit radial syn;metry
IV. Many coelenterates are triploblastic.

Of these statements :

A) 1 alone is correct . B) Iand Il are correct .
C) I, Il and Il are correct D)  all are correct.
o [ Turn over
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17.  &peumeuesieupmer ergl FHlumest sahpl ? |
A)  ue Qee 2 liflsel, ub 2LaG 2 oLy @bley 2 iflsa iflmbe Carder

B) =z (BewenL m@.m, ey sreall age gt Geop 2 uliflselLblwhe
QulL.r@ameur cpsramgut Gameathlen

c) @y swift eceoLw Uargreri® wsrosullLdlGhs &P
GuCL.rCsraunsaer Garanfugrs HLUILGHDES) '

D) @eveu e HgID.

Which of the following statements is correct ?

A) Multicellular animals arose from a group of multinucleated ciliates

B) The ancestral metazoans arose {rom a spherical, hollow colonial flagellate

C) From a radially symmetrical planuloid ancestor the lower metazoans are
believed to have arisen '

D) all of these.,
18. &Gyl Guilur Fools oydvevg LHT BeOL LEISTULTED G ST ILOSDE 2

A)  sevdlGrelluralle QparCohe L

B)  evdCrelluralel Gpeandlpse LGH

C) gy evdlCGrefluraiesr e Guhe ugd

D) yeavdGrefluralle eu dlphe UGH.

Great barrier reef is found in

A) South-west of Australia B) South-east of Australia

C)  North-west of Australia D)  North-east of Australia,
19. oAU 8566 vae H&HCsTHDD e &nc&mﬂu@eﬂméj ?

A)  eusTedwr B) Gapeilév_owm

C} Osudiecvenr D) GumtSum.

A remarkable degree of polymoi‘phism'is seen in

A) Physélia B) - Halistemma

C) Velella : D) Porpita.
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20. vLriralleiles sy ge (Sa,rrl;gnl;{srsis!uq. Lreom Canebiug / euaTihog et 7
A) g;an;ﬁummﬂuwamp G geur s @gpaﬂ ST a WwrBhug
B) (EIBTEH HTGILILLL é,LmLMWm gqﬁ@mrﬁ:&sﬁ Bgi

C) solLd HCadlus srepdde, sLde @\GHal ﬁsmg@ug)lpj Quflu uasﬂ&,asr_u;}
Garlmuseend (Bg,frg)rgmﬁlg,g,m

D) 2eiugd serha, Qeefliiugdlie Hfla cwentédl ghulLg.

According to Darwin's subsidence theory, theé reef formation occurred by /

developed
A)  gradual sinking of barrier reef that became an atoll
B)  on pre-existing flat platforms

C) drawihg water from ocean to form the great ice caps during the last glacial

period

D)  more growth at the outer edges and dissolution of the inner regions.
21. " aps eugiy 2-0flifier FGerd Curl flurii 6 Hadamenrer MirtiLuc HefTeng 2

A ureddum B) afimeaiur

C) efGsrdim D) syiédloemeinmr.

Coelom is filled with botr_iyoidal tissue in which of the following classes ?

A) Polychaeta ‘ B) Hirudinea

C) Oligochaeta D) Archiannglida.
22. 2 awey GL& eudlelmphe (Sg;rr;sisrgin Q_Llj)@b& eusmawleT Gt

A)  eeyBsr 2 Lp@fl B) s DI 2 L h&

C)  VemmenGLmrde D) eremgGmden.

. The type of coelom formed from the sac of the gut is termed
A)  Schizocoel | ‘ B)  Mesenchymal coelom

C) Blastocoel D) Enterocoel.

- [ Turn over
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23.

24.

25.

26.

erhg eureur Glemd @nTers rhHplLBSleTmg: 2

A} Gemdlwr - p - B QuoarCsrur
O &edior ' D}  eowdlev.
The larva which tra_nsforms into juvenile prawn is

Al | Zoea B) Megalopa
é] Alima D)  Mysis. .

Opul CLr@seile adiams 2 Lhe stamiuu@divg 7

A) 2 amempwuren 2 Lhe& B) Gured 2 L@
0  e2ibel sipoa D) @wés 2 Lbef.
Which tjpe of coelom is found in Nematode ? |
A} « True .coelom _ B) Pseudo coelom.
C)  Acoelom | D) Haemocoelorr_l.

ésu‘zm'_:éjs;engbfp Qo LPDIL yewsdi Careor wWHF 2 Wfleer gb Gemd 2 uiifl
Ploalle Buuss swidi Qargu@eaaear. @eualiongsd abs Csr@duie
@ar et [Hevenest '

) auemeigams Lsoeel B) @ydaer
Q) Qlvéugy)t-eSlameir ' D)l Cgrelaet.

Animals with unsegmented coelom and radial symmetry in larval stage, but with .
bilateral symmetry in larval stage are grouped in the phylum

A)  Annelida . B)  Coelenterata

C) Mollusca D) Echhmdgrméta.
evsurmbl erdles sTaoTILESDG 7

A} dLmlggen - B) GQuardu@araden
O e D} &yt
Swarming is seen in |

A) < Chaetopterys B)  Megascolex

Q) Nereis _ ' . D) Pheretima.
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27,

28.

29,

11 . PGZO
2. ToTeNOWT e 2 L High el 5qmuu®eﬁfp@ ?
A)  gevarflen B)  aflwpyCeflwm
C) B4 cinenaCeomeGLmom D) &Lé smwhd).
True coelom is found in | |
A) Ascaris B) Hirudinaria
C} Ancylostoma D} Sea anemone.
sl enL. Yupssaie o sten g Geient! gamasempliysar
A) &figethp armrr-mb |
B) ediwveop Qyjnﬁlmﬁ & 5&0LIHUSBTe
C) - adir g Bipeb setawyeLw Sy g et
D} @eoeu Semesthgid.
Parasitic adaptation(s} of flatworm is / are
A) anaerobic respiration
B)  secretion of anti-enzymes
C) | resistant covering, cuticle or integument
D} all of these,
aleviug auflemalien sedorLid LGLY apedD ohs Glgfr@@;ﬁ\s’o Wppedd Cerambug ?
A) te@smﬂ‘Gurrgrr - '- Bl sle U L{@é:&')éﬁ'
C) genemedlr ‘D) tECymCuirLrr.

Metameric segmentation 'in the animal hierarchy was first developed in the

phylum
A)  Ctenophora B) Platyhelminthes -

C} Annelida D) Arthropoda.

19000 ] [ Turn over
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30. slLell ypssetld E,rrmuu(b\@gj
A) BUpUHS &S B) " &7 swsdi
Q)  @eey swsdi D)  uss swsdi.
Platyhelminthes possessés
A} Dbilateral éymmeiry : B) radial symmetry
C) biradial symmetry ' D} lateral symmelry.

31. UJereumb sahmisemen seuaibdle Glameis

L.

I1.

m.

grest Ggeal 2 pugd Qeiyd SiyCurarser Comabary Caelshaeafle
& Ul euentéflemu QSHEDE.

ageféeme OyGoreiser Wiflaefer urgsridihHe vwaTuRHDg).

SGLRo@sGD Caudul Qurmenrs NyGwraraenb, anmTGLT 6T HEnHD
Qewdupdlsrper. '

V. YpGurersemet erdli&@bh seaicmweau iflasr suenisgsd Qameirdlanpen.
Geudpretr :
A)  Twl @b sfluTeng ' B)  Twbpd I sflurese
C) L I wbhmo I sfluretancy D) oardab efluraiane.

Consider the following statements :

L.

1L

II1.

v,

Pheromones produced by queen of honeybees inhibit the

development of their worker ovaries,
Alarm pheromones are produced by insects for defence purpose.
Pheromones resemble the hormones in being chemical coordinators.

Insects are likely to develop resistance to pheromones.

Of these statements :

A) 1 alone is correct B) I and 1l are correct

C) I, II and III are correct . D) all are correct.

1807
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é@é&n@jm arsdubsaen st :
&1@@ (a) . proeflusy errauralldipha Geéropu UGL e Geb et
g ufleormon apeud Caredles erermy poOUILGH SIS

srgeord (R) : ueGeap OereuusEhss @eoLCu 2 eer hnen wHon Ger
' ] 2 pey peop upH SBlu Gerd 2 iflset 2 seifipg.
a?bpaaaarr@m GO gé sflures cSlemi_emw Gg;rrg_r;@g,@
A (@A) whHnd (R) @eor@ib &f), Gueub (R) erssiug (A) 615];1_’)@ sflure aﬁlma,s,m |
B) (A whmo (R @ueso sfl, Q’mgjm (R) erebiigy (A) alhe sflurear afetéawden
(5) (A) BEUDI ETTE (R} gl
D) (R) seupl gemmen (A) srﬂ

Consider the following statements :

Assertion (A) : It was presumed that from Nauplius larva the present day

crustaceans evolved phylogenetically.

Reason (R) :  The larval stages are useful for finding out the homoiogles and

the affinities among various groups.

Now select your answer according to the coding scheme given below :
i .
A) Both (A) and (R) are true and (R) is the correct explanation of (A)

B) Both (A) and (R} are true, but (R} is not the correct explanation of (A)

H

"C)  (A)is false, but (R} is true

D) (R} is false, but (A) is true.

@estsrans ey flavrgd Curg, wreay aa® Carbnaléen SaawsED
Smett Qarem NyGurer erg

A} dlemeniiegnit ' B} wevGasmest

C) &iGLran D) @lQsmes.

Which is the dispersal pheromone produced by flour beetie when their
population is dense ? '

A) © Glyplure _ B) Muskone

C) Civetone ‘ Dj Quinone,

g
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34.

35.

36.

37.

14

SllyGuretset, apmrGuraraaner abs umslie pogieTena ?

A)
B)
C)

D}

Pherocmones resemble the hormones in

A)

Ci

5Cy Siewlienu GlubBi@uuHe

suhdlaansgb Coudlul QuTmeTTs @)whHee

Gy aSeveneflanes THUGSGIHS

Seupdler Cgmbpeuris apepuilé.

having the same struacture

producing similar effect

FETUTTSHET HFISGD JonyCad

A)
C)

Tridecane secreted by termites is a / an

A)

C)

Senqor SOrGurarser asamer urdadema 7

A)

C)

asefea@b collyGure

urey #Tihg solllyGuomest

alarm pheromone

sexual pheromone

WS BHTDL G b

BL S

Primer pheromones affect

A}
C)

solliTQuresiset g HTsaLULDHGTDT ?

A)
C)

central nervous system

behaviour

prembléeon syulsetr -

mrrem(peiar ayllleer

Pheromones are secretions of

A)
C)

endocrine glands -

exocrine glands

B)

D)

B)

D)

B)
D}

B)

D)

B)
D)

B)

D)

B)

D)

being chemical coordinators

. their mode of origin.

gl (MID GedTemwwenLw ooty Guomesr

@eubpienr o geyblevemen. |

aggregation pheromone

none of these.

euen&&l wpob CaumpubSHsd

Eemeu &émwrﬁ,gjin.

growth and differentiation

all of these.

Mlesord gyl el

@leté eyille s

lymphoid glands

sex glémds.
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38.

39.

40.

15 ' PGZO .
0 @ 2 0f arseb SllyGured Cryqurs srpenear urdlsdlarmg ¢ |

A Qupdleén @erpdar CNS

B epevenfledt myby &iriadl Qecset

C) weender afleflbu LGP Briby Cledsel

D) @@b@sﬁ e geplldoemen.

Pheromones are released by one sex act directly on
A)  CNS of the receiving sex

B)  neurosecretory cells of the brain

C) peripheral neural cells of tﬁe brain

D)  none of these.

solllyGuomatramefledt wp©LWIT eredtent 2

| A)  privy s_gdlesn B) - esGLr apniGuomenssi

C) elplygset 7 ' D) opriGuretselr.
Pheromones are also called as
A) neurotransmitter B) ectohormones

C) repellants ' D)} hormones.

@u@inurrséﬂcmmmrrafr AyenCafurssefier Gerid 2.0 custiéHNflesr Curgy 5.rrm§rﬂu®;‘n

2-@@ QUITITELIT 6T g 7

A) | mrLeflwen B} Gemdlur

C) ~ eowdley o D} GuaGerum.
The second larval stage of most crustacean development is
A) Nauplius . B) Zoea

C) Mysis ' ‘D)  Megalopa.

. [ Turn over
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41.

42.

43.

44,

(pH8l eTgIaITs sTHSILGSHDE 2
A)  Grédl B)  SiQurmet
C) dlyeusQumrme D) Qgév.

Pearl is secreted as

A) nacre B) solid

C)  liquid D} gel.

Lrfidle omyGuwm eretes 7

A}l &L (W B) aLe egfldene
C) 2 ullelr mHens o D) &L LDL:_lq.'.r
Doris is othqwise called as

A) sea hare . : B) sea lemon

C) apple snail D) sea mussel.
‘Wb Oamifle euend gjlj;smg;‘ eresniu@Ueut wirr 2

A meueTevd) ' B)  gmilev urevli
C) QGardd) N&adCwrGLm D}  anriGeu.
Who is the ‘Father of Pearl Industry’ ? | |

v

A) ‘ Ivanovsky B) Louis Pasteur

C) Kokichi Mikimoto D) Harvey.
Qme\)gut_aﬂ&aﬂm SHEUNDLIL LTS THeT rhnenwliuTs SHuiu@elns
A &0 B) Gumiemeu

C) - ursid D}  Olaeyel.

Adaptive radiation in mollusca is studied on the modifications of .

A) shell ' B) mantle

C) f{foot D) ctenidium.

- -
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47.

17

A) Q@Qm&,pé\)mn B)

C) gﬂSh‘.lCB_urr eourgpdhum . D)

eoLTEs &l

HlemenQuratr,

PGZO

| Fpseeor geradEd suurgssdie ag Sl uGossmen sflsb urdsdng 1

Which of the following boring sponges cause great harm to oysler beds ?

A)  Euplectella B)
C)  Hippospongia D)
wétr . Cerellad GeualiiuBsaiais

A)  swédypp Heve B)
C)  Quss swsdt D)
Adult echinoderm-s exhibit

A) asymrﬁetrical | Bj

C) bilaterally symmetrical D)

Spongia.\

Cliona.

24 Je&dT Bleme

GWb 2y sLEST

radially symmetrical

biradially symmetrical.

Quégy_eSseafies, gmeuennliy uFeud adlé sramTiLBSSTDE 2

A GuSAGUILT B)

C) GeLCemGurLm D)

 In mollusca, adaptive radiation is seen in

48.

A)  Pelycypoda B)

C) Cephalopoda D) .

Qpﬁaaﬁs&r &M UL euld eTg 7

A) - JflevGiog & Ceowt B)

C)  préfueny Cevwrr : D}

The "mother of the pearl” is the

A)  prismatic layer B}
G nacreous layer D)

@ &oou@umLT

Gaeul CrrGumm.

Scaphopoda

Gastropoda.

QuiflGurstuig b Geowrr

@)emen ement HHID

periostracum layer

all of these.

{ Turn over
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49.

50.

oty ga‘nmmu@t..w agsmeny Cerbpaiitiug g 2

A} SeiGim eucandlay B) &Gl i &olr g Gl
O IemGLLLr Qeoeflllgas D} (A} whpid (B) By @0,

The most superior quality pearls are produced by

A) Pinctada vulgaris B)  Pinctada margaritifera

C) Pinctada chemnitzi , D) Both (A) and (B]).

SHuleeflesr Gupens erdiflaer wremeu 2

A) &G muen ‘B)  md

") fsrs Ser D) @eeu et Sgid.

51.

The natural enemy/enemies_of oysters is / are

A)  octopus | . B} eel |

C) devil fish - , | : D) all of thel%e.
Qg eTenWLTET (PH® PG BT esoha 6l agl 7

A}l ame (&G BTSN | B) ys&flur

C) | GuwirgSflur . ’ D) - wplGgredlaer.
The Primitive pro-chordates are

A} | Urochordata , B) Eutherea |

C) Metatherea ‘D) Echinoderms.
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52. eumd (PGB BTG eThIG mﬁmﬁu@_eﬂ@rg@ ?
A)  Pegde - B) peet
O sLe B . D)  gymee.
Urochordates are all chlusively

A)  terrestrial _ B) fresh water

i

C) marine ‘ D) riverine.
53. GaevgCrraani@est aabhe uudLGHDE 2
A) 2 amelLd
B)  SoumevL it prume ueslyflge
C)  deumenLit STUTEHYD, 2GR L SEDETHaD
D)  @eubpel GTQJG).]I.B]O'.;GD‘)G\). |
The gastlfo;ooids are primarly concerned with
A) feeding
B)_‘ serving as foster mothers
k C) serving as foster mother and feeding
D) none of these.
54. eriGeudlwaraer @ggﬁgut:{lnﬁia_@m creuailpgdlen sppgleTeng

A)  @Ger 2 diflde @@Q&@@Lﬂ&aﬂ@ uegoTy&emer QUHBI S S

B)  wpeuentsdl g paautsaiie wpaGegiblsallr uayser waDsH
C) emeusen gB](Bqurlq,cnﬂés ollevrtus st

Dl @eubmet ergapfidvenc.

1_1907 ., | 19000 | _ | [ Turn over



PGZO . 20

The larvaceans are chordate-like because they
A) have chordate characters in their larval life
B} the adults lack chordate characters
C) - are neotenic
D) none of these.
55. uwepsier ue&rqé,sﬁ (1) 2_mi&el aﬁ]mméﬂs&@rﬁ;g IDEMDHENE) ST LT Fnmyeuils 7
A)  (Grrdlydles B) OpyCrrélydle
C) ' XYL EAY D)- eCigarGrL_.

The disappearance of certain structures, which were useful to the animal is

known as
A)  progressive B)  retrogressive
C)  aggressive D)  degenerate.

56. ariCadlsa QafCarLralembs abhs wopdles Gameamlet 2
A)  Qamiwor 4GymemLigeb B) uriadlGearmQgmetiflen
C}  HGwr Glef D) Qeasseud GeralGmsd.
The larvaceae are considered to have arisen from the tunicates by a process of
A) HermOphroditjsm | B) Parthenogenesis

C) Neoteny ' D)  Sexual reproduction.

w07,
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ACur QL &f) aetug oo wsdlu uflammwl ug earp CarluTl e ey

S pbHeTD 2

. '58.

A Guigser-arievgyri uflaomo Camlumr(
B) . Guigess ufleoimn Carlur®

C) errevmi urﬂmnu; Carlur®

D) Qusvl wpmid Gert uflesimo Gariur®.

Neoteny is generally accepted as an important evolutionary step and this view is

known as

A) Bateson'—Garstang view of evolution
B) . Bateson view ;)f evolution

C) Garstang view of evolution

D) Best and Tailor view ol evolution.

SFlgwanéEh, %CnLﬁ]mrféaasiu @y euqpeien 2 amey Csaflagd weon aog
efl&Ang » '

Al Qurg apaTergwif B) aalgaal apsraoguit

C) oL eaidldoemup @gnmémﬁ D) @eubmer egieyblevemen.

59.

The nature of {food-concentrating mechanism between ascidian and amphioxus

suggests
A) they have a common ancestry B)  they have independent ancestry
C) they have diversified ancestry D) none of these.

g{é\u}msuﬂs';o ST ERTUL(HID BTG sthemw erelieummy) gamevrid 2

A} QanwgCrromtseGurfleu B) .gorr@surrmm%o%(hsré]a?u
C) JdGLrm wrrcsGumrélen _ D}  QuirorisGurdlen.
Neoteny ié ascidian is also called as |

A) heteromorphosis B) holomqrphosis

[

C) paedomorphosis ' D) metamorphosis.

19000 ' [ Turn over

e



PGZO - 22

60.

QTS (WPSIG BHTEONHET U PHTET W augid (WwaIoseblseameanr PSS BUUGI. e
................ 215 QBs&bGurg. '

A) i CanrQigeatig & B) ¢Qs&smeud -

C) GanrwryGrren L ' D)  AGurl G esten.

- Urochordates are chordate-like all through thetr life, they are

61.

62.

A) parthenogenetic | B) asexual ' .
C}  hermophrodite | D) neotenous.

1959 @it &g Heveurpaleeflas wmom eresrpy eréum as@g;ﬂun'_LW ?

A) \g LIGoTT Ll _ B]‘ anrGeur Glaumel)

b) @ eorsvBumymesd D)  eadynr. |

According to Romer 1959, the uncles of land dwellers are

A) Dipnoi B) Holocepha]j

C) Elasmobranchs - D) Chimaera.

HCerfluau-6 STTILED GIEn6oo sauTs 2 My

A amd g GgTatTen - B} Qseyelr cpig meogdijes

C) Gellflesrangest 2 mlysel D) -%r'rGurrg&a'nL 2 MIIL &6
The accessory respiratory organ seen in Clarias is

A) bucco-pharynx , B}  opercular lungs

C) labyrinthine organs D} arborescent organs.
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63. Uaeumd sappieener &eusorbdlés Gler;rrsﬁ&, : | |
glemer &eure o multismeflest Lieooi
L Gphlenanlles gy, &dlgpest LHDT&@Genpenu mi}ﬁ'@&rrsﬁmgj.
1.  Qubs Q&msﬁ&,@fﬁ@‘ r Qalicug.
L. - GarerL 2:péapdle Curg eurbéen s 'r_f,]meu@g;&,émg]. '

V. o _emiey Gaameusenan T i Qameiraugy.

v @m@{gjerr : .
A}l Twl@b sflurerg - B Twppid I eflurerene
C) I, II wphmd HI eflurereneu D) senmin sflurarane.

Consider the following statements :
- The accessory respiratory organ serves

I to meet the environmental oxygen defictency

't

II.  to compensate the degenerate gills
lII.  to maintain life during aestivation

" IV. to meet the nutritional requirements.

Of these :
A) 1alone is correct - B} Tand Il are correct
e C) L Il and II! are correct . D) .all are correct.

64. afgp&cum_sumrgm N (Burré,rrg, ufasr 6TE 7
Al seumen , B) ' afleur lﬁ@
C)  sméuwer . D) @b et
Which one of the following is not a migratory fish ?
A) Anaiqas B) . Eel
C) : Sal.mOn ' : D) Indian shad.

[‘i—é&ﬂ . | _ | 19000 ; _ ' [ Turn over
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65. perafBi@aTGaGu arpha, SshEsTCmCu anems CurgD Watmer o et e Gleusbigy
SeoP&eLuEADE 7

A) | 6TTIQ.[TTLHEN | " B)  sLmgymney
Cl  QurLrGomrgyrbey | D} - %Lbo%ujhggrrmeh).
The fishes that live and migrate only within ‘the [reshwaler are called
A}  anadromous B) | catadromous
C} potamodromous | D) = amphidromous.
66. BGyriL HesliCabu CupGarsieniu@in cueams Curse
4A)  wGrLel B} ererlgrGpLesi
Q) wh&gs | | D)  Ehssc.
Migratory mqvement along with the water current is
Al denatant : B) contr_anatant
C) drifting , D) swimming.
67. &psarapid aursdubsaen seuel :
ampp (A): eravase GHUILL Gelud whpib CO ,efley ariLgog
Serupms foesr Q& eosi_emeu.
smyeond (R) 1 oifle CO, S(pssid aeens CUTGD sranaismmen alas@Hng.
Spsongmb GO g sflurer afloLow Carhbis® : B
A (A by (R) @yeim@id of, Gogid (R) seiug (A) elpe sfluren eflenémd
B) (A} wdnd (R) Greor@n &fl, Cuewd (R) erebiuigy (A) elibe sfiures ellenéainsen
C) (A} gouny ey (R) efl

D) (R geury oyeime (A} el

1967 | [ 19600 |
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Consider the following statements :

Assertion (A} : Salmon have presumed ability to follow gradients of temperature

and CO ,.

Reason (R) : High CO , tension repels migrating salmons.

! Now select your answer according to the coding scheme given below :

A)
B)
C)

D}

Both (A) and (R) are true and (R} is the correct explanation of (A)
Both (A} and (R) are true, but (R} is not the correct explanation of (A}
(A} is false. but (R} is true

(R} is false, but (A) is true.

68. ulgwe Ig ulguwée M2 & QuUIEsdl. £CGp Qarfssuul Gerer @ollGHsmens
Qerasi( sfures el sows Carh@sd :

ulque I _  wlgwe I
a)  pupewres REuTL e 1.  ewager
b) @ uef@ar LM BlGurLefl. 2. Gy SeaveTige
c) &(ﬁu&e'\_)@uq.d_l HIGurL el : 3. Ggeoy
d Oeswupens @émnuwﬂ 4. yGymguwev.

edi@Gser

A)
B)
+ C}

D)

4 1 2 3
1 2 3 1
2 4 1 3

. [Tumover
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Match List 1 correctly with List II and select your answer using the codes given

b_elow.: .
List I List II .
a) Total neoteny . _ - ’ 1. Siren
b) Obligatory neoteny | 2. Axolotal
¢) ~ Facultative neoteny _ 3. Toad
d)  Artificial neotény , 4. Proteus,
) Codes :

A) 4 1 2 3
B 1 2 3 1
C) 2 4 1 3
D) 3 4 1 2.
69. ﬁ@;n@gmﬂ@e‘m &G
A)  arireur BleallGaCu GerGiumssnd beol Guneug
B) &as:'ncoﬁ EeruGlum&Hab |
Cl @iy uilié
D) ng;m&é&fn.
Pedogenesis is the phehornenon of
A) breeding while maintajniﬁg larval form
B}  parthenogenesis
C) regeneration

D)  degeneration.
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70. éf@éém’tsm.mgb@jsﬁ CurehaTs Geeamaud Caitey Clels :

A aQegBumen - 2 s Gredwr
B) OelGLrameyem — Qgen oWwhlsaT
O yCymimingye — AMTEEW

D)  AGerfluev - )b .

Which one of the following is not correctly matched ?

A} Epiceratodus — Auslralia

B) | Lepidosiren — South America
C)  Protopterus — New Zealand
D) - Clarias L India.

71.  Oesteumn 8&@@&66‘;6” &.susvrﬁ,é!é\; Qenels :
L. pretdder srinlesear 2 bush Qurmer anmiCuores B, &LD.
L anriGurerast Goudlu dguwwns Gloamssguse Qurniiures 2 éfete
Hl. oagg apritCureans@hd UTSwrgh |

Iv. g,_aprrr?@mrrs&raasfr Qupwerallds &5&HaLLEREGTDEDT.

@euppie :

A) L @i eflurearg ‘ B)  lwpmod I sfumemene
C)- L 1l wpgd I sflures ey D) sardgn sfluraiae.

Consider the following statements :
I Hormones are the 'product of endocrine glands
II.  Hormones are responsible for the chemicail coordination
~ IIL. -~ All hormones are proteins
IV. Hormones are secreted in larger quantities.
Of these statements :
A)  1aloneis correct B) 1and Il are correct _

C) I. Tand {1 é.rc correct : D} all are correct.

_ | { 19000 { Turn over
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72,

73.

EPSHTERID Ul wmhise e &gueoﬂ :
ambm (A) Ceuglnsg dlfleawudlde emeul _iblermet 2 iy Hflur sasdlaerrs
G\&md\)u@aﬂs&npsu-r_.

sryeond (R) 1 eeul L fladset SHiflwu genalée Cpaveutin@aleipe.

Sipsargnid GHilge eflure efle_omw Carhbols®

A) (A) wibpd (R) @peoihiin #fl, Cueynd (R} eredTLig (A) G)S}fj)é sflures elendbsbd
B) (A) DD (R) Gre@id afl, Cueub (R) eretug (A) alhe sflurear allets s
C) (A) sl gemmés (R) Heumy

D) (A) seury yeormes (R} &l

Consider the following statements : ‘

Assertion (A) :  Vitamins act .as a biocatalyst in a chcmice;.l reaction

Reason (R} : Vitamins are needed in minute quantities.

Now select your answer according to the coding scheme given below :

A} Both (A) and (R} are true and (R} is the correct explanation of (A}

B) . Both (A) and (ﬁ) are true, but (R} is not the correct explanation of (A)

Q) {A) is true, but (R) is false

D)  (A)is false, but (R) is true.

@rss Gerans ahe mm&;@@ @opurlgeimé Careamding

A) . evgwublen Bl  QGunGasrlgmé

C) srédldigre : D)  ans@emCamumeeminest.
v

Which vitamin deficiency will lead to Anaemia ?

A}  Thiamin B)  Tocopherol

C)  Calciferol D}  Cyanocobalmine.

ﬁ?"f’:ﬂ ' 19900”
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74.

75.

76.
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@6\)5@@@ mrj,g;g,smrrc;'\: oNevhigseflés ghini 'mﬂsmencq(aaeﬁ.) W emey ?
A} Genlignér enevedt 2 amttiey 2 myliLisel @%pgg)é-u

B) GIGOEN BHETOT LTI 60161

C) pei@ pusuentsdlls Qubp Getalimad 2 niiy

D) Qe Jamargab.

Which of the following is/are the effect(s) of terrestrialization?

~A) Loss of lateral line sense organ B) Keen eyesight

C) well developed copulatory organ D) - All of these.

shpalgorer aurpallfisaflan. wilbeb allongast QHLE . sagw PLOL s
@B dlebipent 2

A) B, Ble eunpusmen _ B) dlegde eurpueney

C)  Bflé eurpuemeu D} Sypadla surrg;lumm.

" Cleoidic eggs are moslly seen in animals living in
. A)  amphibious habitat B) terrestrial habitat

.C)  aquatic habitat D) deep sea habitat.

Thg alevhdld @gs&m@ @le(%t.nrrgéo giemenael areoiuBElng ?
A). L6 B, DG ‘ B) nanalit gemnael

C} | QL#G’@WQ’U _ . D) m)oooLs’G@Tfrl_fTﬂ.ﬂ.

- Two temporal openings are seen in

A) ¢ turtles B) tortoises

C) terrapins D) sphenodon.

['18067| [ 19000 | | Turn over
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77.

78.

79.

age opquueLfid safeaiat suamsluRSsiu efteng, ?

A) | gemensen _ : B) srer Garhigse
C)  ubhssh : D) Qegdldvsei.
Repliles are classified on the basis of

A) fossa Bj jaw suspensorium
C) teeth . D) scales.

shCure eurgd wmiafllonsaflae  eadefllswrar vl Gur@(ser)
sreRiiu@elennes 1

Al s@ried@ whnid uyriedE | | B)  s@mried@ whmib wymiedii
C)  ermled® whmd et wrief D)  eorwried wibnb HerriediE.
Which of the following skulls are present in the living forms of réptiles ?

A) Anapsid and parapsid B) Anapsid and euryapsid

C)  Anapsid and diapsid D) Diapsid and synapsid.
wenGuT g6 s Piae Naiupd Qs uGHeow o cieung g,smkpu;_sfr ?

A) QI_.I:D@;LJTTUG'U LGS - B} cedipmeiieh ugg ‘

C) Guenyin_ev LUGH D) ' shogeurBirady Lgd).

~ The region of the skull behind the orbit is known as

80.

A) temporal region B)  f(rontal region

C}) parietal region ' D) squamosal region.
AenGL bl Nab ahg euams 2eanteuataunblds sTamlLGADG ?

A} LsGemhd) | B) s @elfwuer

C}) HL L YD | D) UM &ELD @Gao'r-rrdﬂ.
The reptile exhibiling syndactylism is

A) chaemeleon B) krait

C) turtle D) | draco.

19000
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Slesreud sappsaen souaiddlée Glareis :
gaauebiy uyeueldat@urg  pueny QUDULEGD wLTHDRGET SP&HEIL & GHellch
2. 6iTement .

L. Ceumwrs giHad

H cueenseflé eudliLemey

. wyGuwree

V. 5fle eurpgé.

A} Lol®Go sflurerg B) lwbmd 1 #flwrereeu
C) I 1l whHpd M eflurarenar D) semerdpgn sfluraiene.

Consider the following statements :

All the variations acqu-lred during adaptive radiation lie in the following
direction(s) : '

I. . cursorial
I1. fossorial

I[II. arboreal

IV. aquatic.
Of these :
A) I élone is correct B) [ and Il are correct
C) I, if and Il are correct D)  all are correct.

. LUDEMEUGET euevend BUITEU STJEOTD 6TebTes ?

A) @Georiluh S B) 2 Tyl LD

C) &rrg,aamrrs&r surailenends smyestisgar D) oo siEmaTHHID.
The purpose of bird migration is/are -

A) breeding -

B) feeding

C) fpr favourable climatic conditions

D) all of these.

[ Turn over
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83.

84.

cuveme GUT@D upusGearm@ QBTLILDLW SPESERTL  Sahniseamen &mhHHid

Clereig.

L. cueens GUT@D QuEBbuTETEMDUTET LDEHaISHST emer GGG HED

Qsind 65 G55DE UTTHCHTDID uGH T

. Qurgeurs wpele Geagd whibs upmeusmer, GleTD LDDUST

Sestuppudlestment

. QurbuTETELUTE LDeneGST LGl uwans Gurdlaipat

IV. sLé upeassilies aewens Gursd gyl genet ojglUemL LTS

Glar coor(Heien g.
@eubpiet :
A) 1wl Go gilwmes gy B} 1 whmd 11 sfureanes
C) L Il whmbd HI sflurarame D) soxisgd sfluraraeu.

Consider the following statements with reference to migratory birds :

I Most migratory birds come back to the same breeding place year

after year.

II.  Normally the adults migrate first and they are followed by youngs.

1. Majority of the birds are diurnal migrants.
IV. - Allitudinal migration is seen in marine birds.
of thes;f: stateménts : |
A) I alone is correct ' B) 1 and I are correci

C) I. I and III are correct D} all are correct.

Lrirefest @@aﬁ]&,éﬁ ( S \T86y ) TohE Hove THSHSHHTLLIE 2 ciong ?

A) LBeUSBT e sueensBumge B) es@psmu bLGang

C)  uexl Ldliey D) s&seuewliy UTeue.
Darwin's finches are good example for
A) seasonal migration B) social behaviour

Q) division of labour | : D) adaptive radiation.

18000
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Fpseaoupper aps CryCurlefiur seonpp slLssgLedr Cupurliila

o pelesrmg 2
A) | 23aHGs flur ' ’ B) ey QuwCeuflwur
Q) (A) oppid (B) GrekiHid D} GreGaflur.

Which of the following radiolarian(s) is/are moré superficial with light skeletons ?
A) Acantharia : B) Spumellaria
C) Both {A) and (B) D) Nassellaria.

Spsacim_cuppet abs Crylurarflur sads slLapger Bl gl e

aunpdleing ¢
A) oG@aihGaflur ' B)  SoSiCurGL Mwr
C) CrsawGerflur D)  (B)obmo (C} Gyeor@id.

Which of the following radiolarian(s} live(s) close to the bottom in deep water and

- has/have heavy skeletons ?

A}  Acantharia 'B)  Phaeodaria

'C)  Nassellaria D) Both (B) and (C).

Jereumd smbpsamer saargde Canels :

upeneusHish aTgaTe suaens Gurdlaimer 2

L @ersaril wdied sge
1. QuberswTear 2 sh@heooney
11, 2. GT6Y LIDIDIT 68 eom

IV. usbholurws @oparrs BYhsse.

Geupger : |

A Tul@b sfurerg B)  Iluwbobd 11 sflurereane

C} 1 Iwbgs I eflureteney D} earsad sfluresae.

| . _ [ 19000 | [ Turn over
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Consider the following statements :
The cause(s) of bird migration is/are
‘1. ripening of the gonads
II. natural instinct
III. scarcity (;f food

IV.  shortening of daylight.

Of these :
A) I alone is correct B) 1 and Il are correct
C) I 1l and !II are correct _ - D) all are correct.

88. LBy Qaw ( srflGeaayes (Bé,rrsro%tﬂaﬂms&n'_ ) ergsj)@l@am_uﬂé\) SebhaeTeTgl ?
A ®-lwpgd 1. B) Owppod + 1
C) -1uwpybO D)} O m@@m. =,
Correlation coefficient lies between
A) -land +1 B} Oand + 1
C) -land O | D} Oand-es. .
89. srLGe Glem ety o Carbnellagb oL ou &b S erdlé LG‘fT‘Gﬂg] 7
A) @by Ceom@Cemmehiedt o 186G
B} @y et @Cenryedle l%é)ooolzlﬂ' IgA
Cj Grow Genr @ Banrmyellet enfdleurest IgE
D) @bwSareSammyacar Sy IgM.
The ability _fo cross the placental barrier is in the
A) immunoglobulin G;mma 1gG
B) Immunoglobulin Alpha IgA
C) Immunoglobulin Epsilon IgE

D) Immunoglobulin Mu IgM.
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35 PGZO
.%s&iq.@gwﬂ;&r 6 usslurld eadivop @L.urr@eﬁ Qewaallaer yfleug
eréit o1 GleuebTyy SPLELRSDS 2
A} Gy B) urgGLmy

.C} enGemGLmi D) @eubmer ageyblaeame.

The part of the antigen with which the a'mtibody reacts is known as

A) = epitope ‘ | "B)  paratope

C) isotope | . D) none of these.

Bayenmalgyeten ‘emecuelil ustensreg CoHelu LHST aogl &1 bUbBSILLLE ?
A) dhs aurd GIREG _ B) Gaflud |

C} ST { Hpeans D} &mm&nﬂ DT &5t

Which of the following is related with ‘Silent Valley National Park’ in Kerala ?
A}  Lion tailed macaque . B) Gharial

C}  Wild ass ' D)  Swamp deer.
@bduraliepeter Bleas Slobs ‘el eyeomawd’ gl 2

A) paweme cusTalleufig &6 euwiD

B) Qurﬂu.mﬁ" Cadlu whar

C)  ssrapt Gsflu yusr

D) areflyusr Cadu yhsr.

One of the best tiger reserves in India is in

A) Mudumalai Wildlife Sanctuary B) Periyar National Park

C}  Kanha National Park D) Kaziranga National Park.
Quibersew Lgmoflss o sab ‘2 eve cuetz wifler Bl Qe Seseniv ergy 2

A)  fwesd : B) yed

C) Gurari sy D) nnles ureLT.

- The symbol used by World Wildlife Fund for Nature is

A) Lion B}  Tiger
C)  Polar bear | | D) Giant panda.

_~‘ [1907] ‘ . [ Tarn over -
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94. uCureniur feiaimeles o aiCamliphs Gaualiypd seydgision ugHeamen
cuflens IS &S

A Gart uedl — udeliul LEH — CuafiyGeag s LGS
B)  udelut ugd —‘(Bemr'r uGH — CuailyGeigsy LigH
C) OueilyCage ugd — udlig uGH — Cart LG
D) Quealylealgeh ugd — Gt ugd — udeliu UGH.

The set sequence of different zones inner to outerside in biosphere reserve are

A) core zone — buffer zorie — manipulative zone
B) buffer zone — core zone — manipulative zone '
C)  manipulative zone — buffer zone — core zone

D)  manipulative zone — core zone — buffer zone.

- 95.  dpseam_apnet sflurs QUIESSUILLLE g 2

A)  ertlWil ks —_ L, 60) 60T S 61T
B) & &1 o sreorLm Nmaid
C} sreflymsr — WTement

" D) met ) HLE — arl () HPans.

Which one of the following is correctly matched ? >

~ A) Corbett Park — Cats
B) Gir forest — Rhinoceros
C) °~ Kaziranga — Elephant
D) Runn of Kutch — Wild Ass.

96. @hdluraler wempha GUTeT LUTEYTL I o7& ?
A i élu dhsb - B)  sradm Hesb
C)  uellé fnses a D) dlLn.
Which of the following animals has become extinct in India ?
A Asia_tic lion ‘ Bl Rhinoceros
C) Snow leopard D) Cheetah.
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Gzdlu yhsrale aabe urgsTiy Sefssiu@dng 7
A)  FTUhSEHSHE L. (D B) alehgsEnée ol Hib
C)  gnesy whmid _aﬂmm‘@&@é@ D) soodg Gpblow o wddbe.
In a National Park proiection is prdvided to | |
A)  flora oﬁly ' | B) fauna‘mv'lly
C) both ﬂora. and fauna D)  entire ec_osysterﬂ.
wenpu|D g@mnuﬂ@leﬁm fibhdleid eredrg ergy 7
A)  Emgw allegale wenmweyeeTemey

B) - epdu et sresde neopuaysieramel

' C) perwwTs Wenphs e

D) cuansdledlmhe wl @i wephseneu.
An endangered species is one
A} that is facing very high risk of extinction in the wild in the near future

B) that js facing a high risk of extinction in the wﬂ_d in the medium term
future '

- C)  that has become totally extinct

D) that has become extinct only in the wild.

99.

é]Gl.lL'.lL.{,l'_IIITGﬁbTL_}I' aesiLg erems GOIINGHDE 2 -

A} flsab allergallés wenpueyetar B) . wenpyb Smeurileyerer
| C)  woophgbd, wHpUTLEeETsT D) msmrprj,g;. ‘
 Red panda is
' A)‘ critically endangered ' B) endangered
C) vulnerable | ' D) eXt;nct.
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100. Spsacor_cuppe g Qeue-HE LTgsTIL wHHID uymofigge apureb 7
A) Gaélu ymsr B) yeig qrﬂ&leﬁ | |
C)  &Sleng cund D) GU)LJ(BUJITGI"I)LS]UJI;I‘ ENOTR
Whjcﬁ one of the following is an ex situ conservation ?
A) 'National Park B}' Sacred Lakes

C) Seed Bank D} Biosphere R-eserve..
101. aﬁ’gpé,s,rr@m]ircurréé;luéj&»emeﬂ seuedl :
sy (A) : LCrmGafGumgd DNA yCafiCumyéd DNA @b Ceumlr g,
smgeord (R): yCpr@aflGur. Raefles .g_xﬂe_;iu(&_ne&rs.sﬁ @)evemen.
SpsHeramn @@uﬁ’ugé;-erﬂmrrém alle_eou Cathpsd :

A (A Lé;b_@;fn (R} @eson@ s, Quegud (R} arestug (A) alibe aflurer ellerdai
B) .(A) whnd (R) Qremdo afl, Cued (R) ersstug (A) elpe sfurer allerédsindien
C) (A)efl yyeivév (R) geumy
D} (A s e (R) el
Consider the following statements :

Assertion (A) : Prokarybtic DNA is different frém eukaryotic DNA.
Reason (R) : | Histones are absent in prokaryotes. |

Now select your answer according to the .coding scheme given below :
A) Both {(A) and (R} are true aﬁd (R} is the correct explanation of (A)

" B)  Both (4) and (R) are true, but (R) is not the correct explanation of (A)
C) (A} is true, but (R} ié false |

D) (A) is false, But (R} is true.
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102.-

A 3'55 Heosdé

39

DNA g g erpigsee

B) 2f - 5' dlemeulien

C) 3'-5"wpgle 5 — 3'Slarallen
D) @Gugb@er'r Grg;icqiﬂé)@m, |
Replication of DNA is in

A) "3’ - 5'direction

B) 2'- 5'direction

C} both3"— 5'and 5 — 3'direction

D) none of these,

103.

104.

@&6’\16\9@67? aupsenTs OFLg ﬁﬂqtb wr i) -eredTLg

A) DNA — miRNA — yggb ~ B) DNA - (RNA — yysib
C) DNA — rRNA - Lgsb
The usual mode of information flow within cells is -

A)  DNA - mRNA — protein B) DNA — RNA — protein

C) DNA — rRNA — protein D) DNA — Ribosome — protein.

PR asl Qb ( HTESwHD ) CeETLTadigeln e
A)  UAA, UAG. UGA B) AUG, UAG. UGA

C)  UAC. AUG, UAG . D) UCC. UAA, CAC.

- The terminator. ( non-sense ) codons are

A)  UAA, UAG, UGA B) AUG, UAG, UGA

C)  UAC, AUG, UAG D) UCC, UAA, CAC.

PGZO

D) - DNA - eGur@emb — Uysh.
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105. DNA afler arprseflen cuflomslie apsipy CorLrdrset aflmsurarg AAC GAC
AGC GGC ACA AAA e sudled Qagrui eufloswurs = eearg. et wrppgde
alleemeurs wWae &rrb W Gb Beslu@dlng. Sararr DNA uragdler GHUG
Qg ileugetTéy erdlirumtéoHbamigw eleneney

A pse NCanm sufied wCHb Ceaupraad, OHDEEL HeNaTHHD (T
Semwhs ureabiLtien L Gursinid Gimeed

B) urdfGuiesLgé o ubiGar sufled Geopaure GMmsEn
C)  ‘hGerm syfle euemas wHpd QgrLTeuflemedies wapembwrer wrHHD G)WhEHEGD
D) Carppelssiule ureQuisoLL. ehdedifics LTHPD Gib&HeT .

_ Arrangement of DNA has the triplet base sequence AAC GAC AGC GGC ACA AAA.
' Due to mutation, the first base only got deleted. Then the likely effect of this on
the coding of the DNA segment is that

Al the first amino acid will ‘be different and all others will be like the earlier
' . polypeptide

. B} the polypeptide will have one amino acid less
C)  there will be a complete change in the types and sequence of amino acid
D)  there will be no change in the polypeptide chain formed'.
106. gorsrsdl gambeser atiGurs sraiu@iips 2

A) b&Hew eT(hid S 60 B) Lljrrsistsiu;é,msb-r
" Q) apss ewdu Sy . D} Quomrl Guuwitiy.

Okazaki fragments are seeﬁ during

A) replication, B)  transduction

C) transcription D) translation.

107. @G wjugé GG fiGsd L ushE smemmd ag 1
A GQurgs edIG ' B} efdlgeér apespmid ;agn'naat'b
C) eddigen apge Fmsb .A D) GHSCge @Iy SHILITD RSHD.
Degeneration of a genetic code is attributed to the
A) entire codon B}  third member of a codon

C) first member of a codoq D) second member of a codoﬁ.
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108.

109,

110.

| 41 S PGZO
yygwréesdlet Gurg tRNA 1 & dht GOSH asap e @eneordlng 7 |
A) RNA B) tRNA &1 gHuif
C) mRNA &1 @@ ' D) DNA &1 gduSp.
During protein synthesis anticodon of {RNA binds with
A? rI;!NA B} codon of {tRNA
C) codon of mRNA D) codon of DNA.
S5 eGss a@eBHE Cemaurer Gprd ag 7
A} RNA sygtwen. Qaraim RNA urellwGren
B) RNA gl Gsrem. DNA ureblnCreu
C) DNA gyquuen. Gamesor. RNA umeblwGyev
D) DNA gygliuenL Qarasi. DNA urellnGrev. l
Transcriptjqn requires which of the following enzymes ?
A) RNA based RNA polymerase -B) " RNA based DNA polymerase
C)  DNA based RNA polymerase D) DNA based DNA polymerase.
oy QuIrGe mbeeit m@pq@qrrmmeﬂsiu apeud ergenetd Carhpeléding 7
Al sde yyphsel LDI';[)@]L'D. rRNA B) gl UJghaer
C) .Slmsqur_u.. yrahiset bpnis TRNA D) Yygtiser, rRNA oppd DNA.
R_iboson.me.s on hydrolysis produce
h) acidic proteins and rRNA B)  basic proteins

Y

C)  split proteins and rRNA D) proteins, rRNA and DNA.
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111. e.Qur Qg Cur dypriluflé 6 CurlGLrdlyrds -Jledid ums&rg@g§uﬁ® et sy
QLauQet Qelwiu@deamg. Vesifier sdlfiusesid ohp LGH aeeury sremiLin 7
A)  smbd yeefssi B) wghesh yeeflesi
Cl. epefl 2nBmeayd Yefreflselr D)  @Lrme qsﬁaﬂéaﬁ.

In autoradiography, a hhotographic film is used and it is exposed to
radioactivity. When the film is developed, the portion which do not have
radioactivity shows

A) black spots B) yellow spots
C) - transparent spots D} hot spots. -
112. penleamimédGun(h QerLiysLw ebssé sabyy efurerg »
A pievor Cammsdluieit epefl Qamiiumre syemolny GUITGL Semer Qurﬂg,rré@a‘ﬂm@
B) ugdemrs INseh Hpar adme, ad LeHpaLa Cpry QL TymLwug

C) roiments Syomwvhs G Gurol eefld 'aﬂmgﬁmmeﬁ‘geﬁﬂmmﬂu@ﬁgm
BTHETOTS LGSHD Sjemnding ' '

D) gdda smasflosamu sribg u@Sna g{s;nmfbgjeﬁmgj.

Which statement is correct with reference to micrescope ?

A)  The optical system of the microscope magnify the objects

B) Thé limit of resolution is directly proportional to the resolving power

C)  Resoclving power refers to the ability of a magnifying instrument to separate
details of two closely placed objects ‘

- D)  The resolving power depends on the wavelength of a sound.

113. srewsLgrer meoGaomadl Garearflugred Oedhaoetupdl odlaudla oo Gu®D
wrHpb ghucLgl. golataie _

Al gal pomGanrsduld Quadlu Qeul@u ugty Cseau@ld dlawulda
&l gret peflahop 59568 Geull uyiy 2 &G 2@Baus sngus)

B) &QurlLmensemen el fedorL ammmrﬂmé Qe ereslgrer Gealldaanaon
LwSsTLRSSUURUETS Tadhlgre padCamradl odle sagl Gl e

C) eaasiyrear panGaursdlla uegdnd pefl manGammafaow ol sfswre
2_6fieng

D) 01 - 02 nm ugdlpsn Qerwme gefl pEGanrsdlGur® GuilGbGurg
adlgren HenGamrsadl 200-350 nm fpest Clar oL eneu.

1907 19000



i

L1

114,

43 o PGZO

A major breakthrough in th.e studies of cells came with the development of

electron microscope. This is because

A) | electron beam can pass through thick materials whereas light microscopy
requires thin sections

B) the electron microscope is more powerful than the light microscope as it
uses a beam of electrons which has wavelength much longer than that of
photons : '

C)  the resolution power of the electron microscope is much higher than that
of the light microscope

D)  the resolving power of the electron microscope is 200-350 nm as compared
to 0:1 - 0-2 nm for the light microscope.

6 wreoeust 10x st ewB@alomea wHmD 45x @Qn@m@@aﬁid\)mw Qe meso

pefl menrGeormsdlller Qesuelletr Siemivlienu Syl efigibLdpmes. £EPE$GD'OTL_G)JD@6‘IT

 Ths Bipdes @urr@aﬂaﬂ B$g spefly genmen Sons LESHDET AL sEh 2

A} LsoE B) feob -
Cl  wepeer Dj dlsiy.

A student wishes to study the cell structure under a light microscope having 10x
eyepiece and 45x objective. He should illuminate the object by which one of the
following colours of light so as to get the best possible resolution ?

A) Green B) Blue

115.

C) | Yellow | D) Red.
sybeam Bip gpefl ererugy

A} CurGamglrmGulif euflurs Gleceun spefl
Bl Gy dpeperw @sﬂ&&gﬂr‘raeﬁ

C) &Gy &mleurfsﬁfn Qereton_ speflieadliaear

D) geosu semansed. -
Monochromatic light means

A} light passed through monochromator

B)  light rays with same colour

C)- light fays of same wavelength

D}  all of these.
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- 116, Soleghyaedil. merGeninddl QgrLfurer sflurer swbni/ser o gilaamey ?

1. eefl apeod ypesgrd siT, yelu@b spefl Bde
I ape wpns Hyod eug sy LwsuGssuuGEADE

. 2 @flu gefltasQaradamadiar sugtuam i Sowhss

V. Qurpefleme 2 dlghetung yelul dsagqw eofliloa amgalg

2_Nighadlesing.
@eupmyet :
A Tolpo sflurerg B) lwppod 1l sfluretaneu
C) 1 T wpmid I sfuresaney D) sasgin shuraeme.

Which Istatement{s} is/are correct with reference to fluorescent microscope ? '
1. The light source is ultraviolet rays and not visible light
II. Source filter and complementary ﬁl'ter are used
III. It is based on the principle of bioluminescence
IV. Filters absorb any visible light not absorbed by the specimen.
Of these statements :
A) I alone is correct B) IandI! are correct
C) 1, I and 111 are correct D) all are correct.
seflsanen adlé aligbGurg (PEETTEUT S I L gpefl Ggﬁﬂ)@aﬁ]&&ﬂu@&pg ?
A)  Geupul swwl uyly "~ B) @@ swolL ULy
C) &@b swolL UTiy D)  elmh swwl ugiy,
A polarized light is produced when the light waves lie in
A) different plane | B) one plane

C) dark plane ‘ D} vibrating plane.
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11_8"». epefl 2 MigheuuEn Serey 2.flgsen Qur@siea uEwam® Criupsd CBmL e LE.
@ , |
A} Sr-emibutl el B) U afid
L - Q) Querst-eurduil. alg D) @eoeu Sematsab.
i The amount of light absorbed is proportional to the thickness of the absorbing
. material. This is -

A) Beer-Lambert's law B) Beer's law

e Bouger-Lambert's law D) all of these.
119;‘ %L@er@l}tq.@mrraﬁljmﬂé:@ é{LOF.DL.IGmL; CpemeusHel Wremey ?
| FA)  sdlflu wsdeny LdlEs LEHE HNeeg CauduliCum et
" B)  gefl o_amnt Hyeuid |
C)  easevBumrent ( Geuedsbu@id ) sreub
D) Glemal LTS SID.
| ~, The basic requirement(s) for autoradiography is/are
“.A) radio labelled drug or chemicai B) photo sensitive emulsion

C) exposure time D) all of these.

120. iaﬁ’gpé,aan“ggﬁn cursdlubisenar seuell
mpp (A) : Guregmru@ser adug eopeGrrm QegiGoardla Csraudueimy
araoTiL@nd Sanuengl. Heo wenllaerTe 9 wrg.

argeord (R) : seoasg walssldr dlems plireomllésiu @Qerengrd yeubdler
! sefllureng Sywwore Sewbgerens. '—

}f@é&.n@@ P g e sflurer o eow Carpos® :

A (A) whpid (R) Goea®in sf), Quoeyb (R) eretugy (A) albe sflurer allenéei

B) V(A) whpd (R) @Ucdﬁr@tb gfl, Gugyd (R) erssrug) (A) allpe sflurer eflerésweiey

lC]l (A) sfl gyeTév (R) seumy

D) (R) efl gyeormep (A) geumy.
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Consider the following statements :

Assertion (A) : Polaroid's are made by suspending ultramicroscopic crystals. of

herapathite in nitrocellulose.

Reason (R): All the crystals are oriented so that their optical paths are

-

. aligned.

Now select your answer according to the coding scheme given below :

A)
B)

o

D)

Both (A) émd (R} are true and (R) is the correct explanation of (A)
Both (A) and (R} are true, but (R} is not the correct expianation of (A)
{A) is true, but (R} is false

(R} is true, but (A) is false.

SPeHHTEID et S alukisener SHeue

Fnpmy (A) @eré Qadseflés 2 srer GCTCLIEarbaefie adiaisflame der
wrbob FHUGSDE '

srgerd (R) : . suwellwuréeh adlralsamre. 205 & (LD Gl
urSlesiu@dleipg.

Fpsergmin GOy e sflurar aflenoow CarbsH :

A)

B)

C)
D)

(A) wppid (R) Glyssor@n #fl, Guogud (R) eestug (A) alipg sflurear ellendan
(A) wbmd (R) Qran@n &, Gueys (R) ererugl (A) edp@ sflurer aflerésnde
(A) el a;:bscrrfd) (R) seuny | |

(R} &fl gyeatmes (A) Seug.

Consider the following statements :

Assertion (A) ‘The genetic effect of radiation involves -mutations of the

chromosomes in sex cells.

Reason (R) : The succeeding generations also become victims of ionizing

radiation.

Now select your answer according 10 the coding scheme given below :

A)
B)
C)
D)

Both (A) arid (R) are true and (R} is the correct gxplanation of (A)
Both (A} and (R} are true, but (R} is not the correct explanation of {A)
(A} is true, but (R) is false

(R} is true, but (A) is false.
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2 BarQe g v Csrgenen Celin Yng, 6 sGapHp Cuanadls spald o6
Gn(BEOrs LT UMg sreiu@dlpg. Quugueflde, =bhe as@smcu' enihg

Bletng Cym(pbh@ eredien Quuwii Gl euTd 2
A} Lieriev Sletig Gymd . | B) Leyerev Slengymio
¢}  HeomeardeGueL. ey HengGrmn D) ur@en SekngCymin.

A pregnant woman on whom amniocentesis test has been performed finds an

.‘ extra Barr body in her embryo. The syndrome which is likely to be associated

‘with the embryo is

123.

A)  Turner's syndrome B) Down's syndrome
C) . Klinefelter's syndrome D) Patau's syndrome.

SpeuesaupdeNmhe shlurer ambeop Carey Qais :

A)  aéenr gdled LTHpH®E GITETL &nig L G\urr(r_r,t:'ﬂaa@fo yHoCHTenw

I T 21 Y ALY

B) ader det wrhphsapd Lrblarel dhel wrhphisaen 2. TéGHng

Q) dle gl wrhpt QuTELSST b GG YHHGHTW 2_ G T&HGD

D) dlefd wThnges grao®id Qur@l s Gadm Uflsea alagms @@@é&@tb.
Whict; one of the following statements is correct ?

A) All mutagens are carcinogens

B)  All mnutagens prbauce domigant mutation

C} Some mutagens are carcinogens

D)  Carcinogens reduce the rate of cell division.
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124.

125.

126.

DNA ‘eveu g Blhpaas@néde QoL Cu kg Ca@orearmgid 2 L &Gb

Qi lastt eTeme 7

A) @m@&rrememfo‘ B) dNiGsen

Q)  a&CeumflysdeflGuen D) ey sdleNGue.
Which enzyme break off DNA at any point between terminal ends ? -
A) Lysozyme. B) Ligase

C) Exonuclease D) Endonuciease,
wm_‘ﬂms;u Qurpiduedie, wrellsgert sgdflsems ag LusTLESDS) 7

A} meuflt QT |

B} .Qljdl)l;l'ﬂé:&sﬁr eresT@L Bl SdlefMGuen

C)  &NGaev

D) ;go{anmCBma‘u.

Which one of the following is used as molecular scissors in the field .of genetic

engineering ?
A) Lysing enzyme B)  Restriction endonuclease
C) Ligase D) Amylase.

wyllwé Qurdlfiueiicmme o peurer QuTmei erg 7

A) @G&T&eﬂsh B) aftapelen
C) @euediett ' b) dlenrrs'mﬂ@.
The product of genetic engdineering is

A) insulin B) humulin

-~ C)  inulin - D) plasmid.
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127. alppCarind Qesells wrppsos ghuGsan Geusl Pause aerer Gt 2
| A) gymestev@uTeTedTav B) qgrra's;aiués&rdu
C)  gyreTevL hened ' D) wrpmrertauGurrti.
When a foreign gene alters the host cell, they are referred as
'+ A)  transposons - B) transgenes
- C) transducﬁon D) transport.
128.'- Slenreufl® eredrugy
"A) urseflurelé sraoiue CeuelieCrrCGur@smnés DNA
B) @eourevaaié sTeoiL@d G‘lmaﬂ@@qn@mné&nmé\) DNA
Q) | ursefuredé areiiniin eGyrCurGsmpd DNA
D) @aurevedles srarTC@b GBFrGurGsrnd DNA.
Plasmid isa / an
A)  extrachromosomal DNA in bacteria
"B} extrachromosomal DNA in virus
- C} chromosomal DNA in bacteria
D) | chromosomal DNA in virus.
129. e / aeeu ghett SHLNGemandaefien subloameu Lrdaen 2
h) Slter'rmrrgbrptb B} euwens GuTge
C)  Gsite Gelig s | D) @ea Semarbgib. - ' ][
. Which of tﬁe following will upset the equilibrium of gene frequencies ? ;

_A) - Mutation B) Migration L

C) Selective mating D) All of these. l
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130. L aVewss saosdlDamsd ahs owy CuTsE ST 2 gading 7

A) symai B) @eLbleme

C) I ‘ ' D) @eu emenHgin.

For the calculation of standard deviation which measure of central tendency is

used ? ‘

A) Mean | _ B) Median '
C) Mode ' D) Al of these. " .

131. e vdllomear agar apaid GuD WPGYD ?
A) 2 oL Hleoe ~ 3 sgmaf | B) 3 @geLbae -2 epref

C) 2@eLhow + 3sgred D) 3@eflase + 2 sqmef.

.

.The_va]ue of the mode may be derived f;'om
A) 2 median - 3 mean B) 3 median - 2 mean ' s
C) 2 median + 3 mean | D) 3 median + 2 mean.

132 SpssaorL (pge Heme -cﬁ\éum‘o ubOw erhg gabmy &rﬂméum ?

A e wsdhleew Qeud

B) QuimaliCalu Sgablaauld 2 drerg
C) epdiiucL Gasd@sels Qubs Cosfleaaiupdng ,
D}  edldllL srpemigdpars GsafssiuGHns.
Which of the following is not true about primary data ?
A)  These are first hand information
B)  These are original in nature
C) These are collected from published sources

D) These are collected for a specific purpose.

1907 -
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133.

51 | 3 PGZO
2 wrfleet @Gy demadles gaprs Carhy Quigd Curg, ag o arQeusim
SeP&HLLRHIDS 7
A) Ggﬁmsmgg QgL Lpen B) eagdlifwen Qariygpesn |
C) Flralawsad D) 4L Genyp.
If the 2 variables move together in the same direction, then it is called

A) positive correlation B) negative correlation

C) standard deviation D) standard error.

134. @m&@g;ml;ma syrafl wHnd SHe mrr@rﬂuﬂ&n srreflagd e Cu o srer Ceubmeons

135.

eredreQlowedtny SBWLLGSIDE
A Hrcienp B) wrdf ey Lﬁjsu)&p
C) sgref . D} spnsfl elevssin.

The difference between the means of the population and its sample is known as

A) standard error B) sampling error

C) average ' D) mean deviation.

ahs wrdfl a@uy wepde, Gaeurs aﬂcu;j(g)in mrfé]rﬂuﬂs‘u GarshalnfeashE &0

suriitndenes QameorBsieng 2

A sryewn srths wrhfl ey
B} CBr,ra.iziTL.ﬂl) wrdf eHiy

C} Gaiey Qeuwiuul L wrdfl e

D)  mrer-Cresor i wrdlf) erGiy.

_In' which method of sampling, each item has an equal chance to be included in

the sample ?
A) Purposive sampling _ B} Random sampling
. C)  Selective sampling D) Non-random sampling.

' . [i9_°7 o . [ 19000 [ Turn over
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137.

138.

139.

PGZO : . 52

WinGumée swsdur® s sl dld senobhageierg 2
A)  sgmef B} . 2 dnCuréeg (Ba,n@asefrr ,
Q) ﬂaagpgaaeq ' D) @eoas JemetHaib.
The regression eﬁuation is based on .

A) mean ' : B) 2 regression lines
C}  probability o D) allof these.i

QL Curdlyresilé aumL q&,ej&;ﬂn TS 6(h

Al e 2 es Qeusfll@ B) @gn@@ﬁ@@rﬂm&
C) weoiLe G uflbgery D) @y SeoeTSgiD.
The ‘Demographic Year Book’ is a / an

A)  International Publication” | B} Trade Journal

C) Mandal Commission Report D) Alof these.

AL ewsab sHasdDd Eodyb ag 2

s(x-x%)e
C)  (A) vhmid (B) @resoi®b : D) @euibmsr e galdeme.

Standard deviation may be calculated by the formula

A) ZT\%( B)‘ ,\/z(xh;ifﬁ

C) both (A) and (B) D) none of these.

afg;é,mqohrpm@@jeﬁ WWICUTSHEG T SHONTSS T ?

A)  sgmefl B) @eLdlee

C)  ws® : D) ofés.

Which of the following is not a measure of central tendency ?
A) Mean ' B) . Median

C) Mode D}  Range.

.
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140.

142,

53 | ' PGZO .
Fpéaasoreuppiel erhs alemendQawas AMP eowg Garppalsding ?
A)  sygevenat + enyGuUTey B) =g Camélen + GurGerm umenGur.
Ci @4@.@601681 + Guor Gerr Lrei @ D)  ADP + GurGerm LmeuGui.

Which of the following reactions results in the formation of AMP ?

-A) - Adenine + Ribose B)  Adenosine + Monophosphate
') Adenine + Monophosphate D)  ADP + Monophosphate.

. &phd AMP acieurps Carbpelissiu@dng

A)  ATP g chq:.qmémé) cnedlCenery Fflum 2e1&Hlwrs GQlgwdLReuGaTT 6

B) ADP fg siyoas osdlGamev dflur smsfurs Gewshu@aigerre

C)  urevBul 185 Sy emeTed s‘m&éﬁ(ﬁer-rnefu aérﬂturr sangdlune ©FwaHLIDS T
D) Qeubrsi ergajbldens.

Cyclic AMP is produced by

A) catalytic action of adenyl cyclase on ATP

" B) catalytic action of adenyl cyclase on ADP

C) catalytic action of adenyl cyclase on phosphate
D)  none of these.

eellihe Brugdiles o oliflsellar Garansd oyl aps ams Qamely
fed &TammuRRng

Al fHleopapr OEriy Siblehs e
B)  Heopapn Qarply Siblekiser
C) wsdluwrs Cuamalu@d Qamapliy Siblevisel

‘ D} Cwyew Gurmet.

Which type of fatty acids is found under the skin of aquatic animals living in
colder water ? ' ' ' '

A) Unsaturated fatty acids B)  Saturated fatty acids

C) Essential fatty acids : D) - Waxes.

_ [ Turn over
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146.

‘PGZO . 54

Lpsecoeupmer ahs SfCaim gflwpdles gl e sy ddour 5,rrr'ru'sés1
sremTiULaldenéy 7 '

A) smt_Ggrreﬂs&f _ B) o &lest

C) aieﬁsmmsisr ’ _ D)  Hemendles.

Which one of the following amino acids lacks an asymmetric alpha-carbon 'P

A) _Tyrosiné: B) Leucine

C) Alanine ' D) Glycine. .

Epsmam ahg Hlapailar web ouGar, Hfla_d CoA eurs mﬁgbg)uu@aﬁ]gogj ?
A) o &afICL gL wavamy Cyayest B} | c%é,‘aﬁ\@uq.cij e sriruréHdlCeaysit
C) &eliGLygen utevunfiGoaysst D) gysedlgeit ghmb whpibd GHESD.

Which of the following processes is used in the conversion of pyruvate to acetyl
CoA ?

A) Oxidative dehydration B)  Oxidative decarboxylation
C) Oxddative phosphorylation D) Oxidation and reduction.

Spéaesor_suppiel eTpes Qlewd ey, Qgrrunpgj SLETGULTE S WHOID LG (UL
2_BoiLgeIte SP&aLUBEDG 7

A} uwrlagest B Gumells: a{L&OJL'D

C)  GurBsr Quymé D) Sevaeriis oublen.
Prolzmged use of antibiotic and eating of raw eggs destroy the functioning of
A) biotin _ . B) folic acid |

C) tocopherol : . D}  ascorbic acid,

@by, Ceorr@Bemmyeiles ere&mgj

A)  urell sréserL : B) ygsd

C) Qamapiy : D) srgl Gurmer.
immunoglobuhns are

A) polysaccharides B} proteins

C) lipids : : | D)  minerals.
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147, dpsaa_abpst sAUTs QUIGSBILLLH ag 2

A)' Qi enré —  evsied

l;%)  eguwiblen — FQym SoligmentSlum
é)_ mg@gw&d\@eﬂeﬁlsﬁ? — Faomflev

D)  severille spfled - — - Qufl-Gudl.

Which one of __f_;he following is correctly matched ?

A) Retinol ) —_ - Scurvy
'B) Thiamine — Xerophthalmia
'C}  Riboflavin —  Cheilosis

‘D) - Ascorbic acid — Beri-beri.
148. Sfyesdie i L{g@;@ti) Hrdlestufasns srfgg anriQiores 2 gaflpg 2

A} ADH B) STH

C) | ACTH- Dy  TTH. |

Which hormone helps in the reabsorption of waterrfrom.‘k'idney ?

A) ADH .‘ ' B) STH

C) | ACTH . D} TTH.

149, sf&p&:&.amu_mgpym ag C. H wppd O eoous Qa,frml.q,@uugn_m N, S P
Guwmmmpmmqm Qe.rraim@snsrrg; ?

A) &.rrrrGu_rrmgquer_@&m B) ypsmser
C) Qemrgglijsei " D) emeultible.

Besides having C, H and O, which of the following also contain N, S, P etc. ?

A)  Carbohydrates : B)  Proteins '
- Q) Lipids D) Vitamins.
E@ [ 19000 | [ Turn over
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150.

151

152.

auwgl auhs weallafléd @uéshd ehig Carhpelssiu@dlapg ?

A @sub - B) wapmanye

C) erguibly whemg ( ey ) ‘ | D)  wEhseli erepibl ghemgy.

Blood is formed in the human adull in the

A) heart B) spleen

C) red bone marrow D)  yellow bone marrow.

. wrgealllmil e TEHsh ageTd 2 ampeudldane ?

A} smlenu QeueNliu@sgid ablumfle

B] dlgrdluen meimausst Qeusfliu@ssid gm_nﬂurrrﬂsiﬂl
C) a&CLrulfub #ré@h SoemuliNGeamanedles
D) oo Gge &rH@Dh coaulifiGarmansudle.
Menstrual blood does not clot because of

A) heparin released by the uterus

B) heparin released by the Graafian follicle

)  fibrinolysin secreted by thé endometrium

D)  fibrinolysin secreted by the oocyte.

e Apifes o mduyerer ursefurael &[@é’a&;‘ sude QEprE
S &HsluSlng 7

A) - ygrhlodle - B) eaCsramsn
C)  urerdfiGurersiblesr - | D) - _sme,(Smrré)eéT.
Saliva contains an antibacterial enzyme called

A) trypsin B) lysozyme

C) pancreozymin _ D} chymosin.

18000
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154.

57 PGZO

srevlfler aoriQurer agamd aréasliuGdlog »

A)  geonteou arillsdlar o sdlaigs Qadast

" B) aneQurbigmest Glsdsel

C)  euCwrils @renglienu srtifleefler G-Qedaer

D) coL@y S @learlieol syullsen.

Gastrin hormone is secreted by

A}  oxyntic cells of the gastric glands

B}  zymogen cél]s | _ ;
C) G-célls of ‘pylo'ri‘cr gastric glands

D) fundic gastric glands.

.5grrlb@urrm&s_'_®&erﬂs€ﬂ Themat sgalss Geomey, SrmblurasCLrdaiiuraey

2 GBOIL N &GEDS 7
A) 35% B) 10%
C) 5% , D) 1%.

Thrombocytopenia results when the number of thrombocytes falls by

- A) 35% B) 16%

‘ 1'§5.

C) 5% D} 1%.

sriGed @eramifen QemorGLrorGurlgries ahs aniiGorames bgleTeTg

A eor&BLrOlgpaflé ammiGumstn B) syrqevendln apriGLmss

C}  weul Gpregetn : D) q(%;rrr@gdm.’.gfrs&r.'

Somatomammotropin of placenta is a hormone like

A lactogenic hormone B)  luteinizing hormone

C}  estrogen D) progesterone.

. : ' { Turn over
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156, gpuueL  aaiflos orpp Cousd srg,e;&r Q&me‘\)@{jwﬁ)m @meucm'mu
' Sy Hlueisdleing 7 '

4) doylld sgud : . B}  umgresgml@ gl
C) s faéd syl | D)  eogyria@ spod.
The basal n;etabolic rate can reflect dyléfunction of |

A)  pituitary gland B) parathyroid gland
C) adrenal gland _ D) thyroid gland.

157. @ welger @@&, 2 wywrer SlyGsesdle Girpeed Curg e Hapiang 2
A) @Quss felug aamadsas HdefadaTng - '
B) Glusiener @uss siamy aaariams aﬁ&ﬂéaﬁ]s&rmg
C) @uss fetiugy aamnaiisams Gopdeéms |
D) Oeusiemer @QTHS gD GGG MS GHODBTDE.

When a person stays at high altitude his A
Al RBC count increases ‘ B) WBC count increases
C) - RBC count dgcreases : D) WBC count decreases.

158. 9@ 5758 GoDhs STahCarys® sos ey Clewsku@ding 1

A) smEGSH ' B) sg$se

C) &fw fleove D) Qemreymsd.
The response of a musclel for a single short stimulus is

A}  contraction . B}  twitch

C) tone : | ' D) fatigue.

159. urgurigseflar  Gpuprefle Qapdarflliar  ceetey Goawry Bloewdleo
S pHeoT_eupIeT aBeret eTEITUTT&ESHTD 7
A Apdt Gerppb Goserg
B) Sypifies jeney whHpd gevemd a;ﬂ§ns. Lo QD
'C) é]@ﬁrﬂe&n N 7Y\ .ggilg,mrr&, GlB&HGD
D) S siflere Brds GmeeD.

%07 .
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161.

162,

59 | PGZO

If Henle's loop were absent from marmmalian nephron. which of the following is

1o be expected ? )
A} Tﬁere will be no urine formation

B)  There will be hardly any change in the quality and quantity of urine formed
C} ‘- The urine will be more concentrated

D}  The urine will be more dilute.

26CrrGard edlllphg Comearmdlng 2

A 2lEE - B) ;SIG&T(ZL_rnﬁ\snrr& cuemauNedT ey

C) s Bal L enli D)  al&@®m uleb.

Acrosome is formed [rom

A) nucieus B) endoplasmic reticulum

C)  golgi complex D)  nuclear membrane.
CollGLradlile arg v @b Cerppelébaiu@dng 2

A gy wmsear Carpnelssiu@ding

B) Ouemae Ggrbnal&siuGdng |

C) @guee@ Qeruwd Carppalssun@dips

D) @® urgrdifleer Ggﬁﬁ)@nﬂ&&ﬂu@&pg\].

In thelytoky
A)  only males are produced - B)  only females are produced
C}  both sexes are produced | D}  hermophrodites are produced.

eSlbs@meur bad i &rﬂturrasr-@g,m_r‘r auflens fleven

A) - albsembsd, evClLTCuogL, svuiwCGrGsareaiiur, svurGuGLrGameur
B)  evuito@rGareflur, suuinCLrans., av@uiGuogl, evutGu@LrGemeaur
C)  ewurwGrensl, svui oG Gemafiur, svGlLTGuig L, svuriuGrGeareur

D)  swuiBr@arefiur, svuiGuy L, svurwGLresl., svutGw@L. r@smeur.

' " [ Turn over
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Correct sequence of cell stage in spermatogenesis is
A} spermatocyt;es. spermatids, spermatogonia, spermatozoa
B) spermatogonia, spermatocytes, spermatids, spermatozoa *
C) spermatocytes. spermatogonia, spermatids, spermatozoa

D) spermatogonia, sperrnatids, spermatocytes, spermatozoa'.

163. &péacoiL. sl dlaailen adic Lmeenrl@ o srerg 2

A) Llélgh B) sdlar @iy

C) wilyg ‘ D} slLibeow sHOyS.
Which oné of the following vaccines cohtains toxoids ?

A) BCG o B)  Sabine vaccine

C) DPT D) Measles vaccine.

164. Oesteu@id sapmsemen seuampdler Qarefa _
L adlt allemeruOurGp@Epéd@ dlipre Carppelsaiufd cpadondenet
G Gur @inblyGerr ievBeu { RIA ) eyevd &0t fwieomid,
. GryGur @oblyCerm c'msm(Ba'o apad Qufin serallés 2 eten g,asﬂg;ga
Apeud: Gamisemen U B &muﬂmmnm

L GrgGur GublyGerr oevCev cped anmiBuraiseerd seeNuin s

BGOSRl BoriD. ¥
V. GrgQur @uiyGerr evBen wpsaen UGersamaniie LwETUREDE.
@eubmier :
A lwl@d sflurerg: B) Iwpgbd I sfuraree
C) I Ul upos IV efluretanas D}  sewbgd sfluraiaa.
Consider the following statements :
L. Any molecule against which an antibody can be produced may be
identified by radio-immunoassay
. Radio-immunoassay. can identify only large amount of specific

molecule

III.  All hormones can be measured accurately using radio-immunoassay
v. Radio—'immunoassay is used in clinical diagnostics.
Of these statements :

A) I alone is correct B) I and Il are correct

C) I, Il and IV are correct D) all are corfect.

[1s07] | | 18000 ]
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61 PGZO
Sy flesr @rleoe Hleane Corppeumi QupiBeus)
Al  upePEE wHpd GELAFEEG B) 95 2066 whnd p 4BES
Cl QoL ée oHnb 2456406S D) Siatps PN SHOEGSEHD.
Pituitary has dual origin from | |
A} ectoderm and mesodeﬁn B) endoderm and ectoderm
C] mesoderm and endoderm D)  all the three germ. layers.
Bime®m By em_wirael a@mn@j S dlesImentiT 2
A) oy cEoise 7 B) Ouediser
C)  smsprisst - D) syatise whpbd Queise.
Hetei'ozygr.)tic twins can be

A)  males ' ~ B) females

C}  gynandromorphs D)  both males and females..

Epsaaoi_aubpet @pbs epliusedar iy KL ée Baad Cemeaureais gl ?

_- A) - Qeé Uifley _ B)  wmorHobd

C) Sevore. wowmhpd : D) sfls cuenisd.
Which of the following is must for rcgenération of lost organs ? -

A) Cell division B) Differentiation
C) Dedifferentiation ’ D)  Fasl growth.

. eEaDBeds Curg LealhbeETISEET EENENTEUS oFeLeUT) 5@&50\.@5‘;\@;@ ?

A} Gemgwd gureser peireflenendies Gameom Qg
B) sreflub surdiser gperaflamaiié alllames UL aibd
C)  sredlud whid Gerguwid SuresHal (etaiamalld arig s ae sl

D) Gemquwi, sredluid wHpib waefdud swretsmsie 2 Qguwe.

During fertilization, polyspermy is prevented by

A) zona pellucida in the presence of Na * ions.

B}  vitelline membrane in the presence of Ca ** ions
C)  cortical granules in the presence of Ca ** and Na * ions

D) - influx of Na*, Ca** and Mg ** ions.

| 18000 ‘ [ Turn over
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169.

170.

171,

wasdea alamereurs Curg Ggpnﬁ)@jaﬂéaut;l@m i allenes Qum@mel

A)  IgD B) IgE

C)y IgG | D) IgM.

The antibody formed in primary response is

A)  IgD ‘ B) IgE

C) . IgG o | D IgMm. ’
@hdwuralléy ‘Lelsmer urgisTuy il Hes' Gg,mj)gjmﬁl&,g; SOOI T ?

A)  Qubens mrj)@m @uibems euer upTfluy CuHGisrerenb Bifle 2 e Sjempiy
B) 2 @& suaalleng B

C) @[ﬁé)m msprc}ﬂsu@@?.ungjasrrﬂq FRHID

D) @bl cusralleviig eurfiwb.

Wh{ch organisation has launched the ‘Project Tiger' in India ? -

A) International Union for the Conservation of Nature and Natural Resources'

B)  World Wildlife Fund

C) Wildlifc Preservation Sociét'y of India

D) Indian Board for Wildlife.

Guet ( PAN ), s @i mid Hlemev mn&g@ﬁp@ agenrer Camhpelseiudng 2
A) 2 diflu Gaudu alloardGsus ' B) B Goudlu aflwmensQewd

C) Qeaulu Caudlu allenaéawe D) speflu Geughu aﬂmmé@&me‘ﬁ.

PAN, a secondary pollution is formed by

A) bicchemical reaction B}  hydrochemical reaction

C) thermochemical reaction D)  photochemical reaction.

|
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172. BerGuiLm whpb GLru-GLmis erhg wrau@sedis alameney oy @b

173.

174.

175.

A)  uTsTED WHMD STwD

C}  erfwd wHyd sa50

B)

D}

LT SF&D HOIDd S dlwib

srifuid whHpd everyreraflud.

Minamata and itai-itai are caused by pollution of

A) mercury and lead B)
C] lead and tin D)
BT 6T ebTLIg

A} Frsemgu @ubens auend B)
C) Erdsagu, ysidée WIQUTSs D)
Water resource is

A) exhaustible Bj
C) exhaustible and noﬁ-renewable D}
ey T ‘Fhiens’ e esTLG

;5\} SCrL evuin’. amrietiie B)
C)  uwly Bim QambyesLw e D)
’fhe “Sangai” of Manipur is a

A) great pied horﬁbill B)
Q) brown antlered deer D)
Bleuld’ eTedTLIS

A)  Eréesqu euemd B}
C) &resgu, yglulés gpyuwrg euend D)
l.and is o
A) exhaustible resource

B)  inexhaustible renewable resource

- C)  exhaustible non-renewable resource

D) exhaustible renewable resource.

55501

mercury and cadmium

lead and strontium.

87 PSS
Sréeniqu, HEON5H8E Sagw.

inexhaustible’

exhaustible and renewable.

HBUL HApSGHIOL W C&THG

suflé@per w weseorimiby.

black necked crane

retienlated python.

Srapqurs ygless sgw euenh
STaengu L6586 8gw cuenid.
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176.

177,

178.

179.

@ phloe paruardu Lidsbiamde eemg

A)  DDT ' B)  Lréeurden

C) BHC | ‘ D)  gysmeoLnTége.
The ecofriendly pesticide is

A) DDT | B) Toxophene

C) BHC D}  Azadirachtin.

2 fiflu udaimsL uTESTULE LLD, UTITELEDESE® ahs GLD

BlempGeaupplivL gl 2

A) 1992 B) 2002

C) 1996 ‘ D) 2000.

Biodiversity Act of India was passed by the Parliament in the year
A) 1992 _ ‘ B) 2002

C) 1996 : D)  2000.

ol afléo, 1997 g8 Ul WTED e DD HT&sEhHesSlaL Quurar euraiiens wTHHD
updu st L gl Guufune 160 prHse sowHEs GHoLE 66 GUUESD oeTUS

A) GLrsdICun o LabuT(® B) GursdGur yBrriGLmame
C) &CGurlCur 2t estur® D) SHCurlGun UGl GLrame.

At the Intergovernmental Panel on Climate Change ( IPCC ) meeting in Japan. in
December 1897, 160 nations finally agreed on a landmark treaty called

A)  Treaty of Tokyo B) . . Tokyo Protocol

C)  Treaty of Kyo‘to D)  Kyoto Protocol.
Gubeaile Hen s CrygCur ;%ésm,sh oCarGLrisel ey
Al yGreilud : B) Goguwbd

C)  smiuss-14 D) @ soatHgib.

Naturally occurring radioactive isotope(s) is / are
A) uranium B) radium

C} carbon-14 D}  all of these.
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180.

65 o PGZO
edardar Lfamms aurerny ashe dobs TRHHSHTLTE ellenhGHing 2
A}l geauLUY LT Bl  sifbauGss

C) auisGsm Qmeidlev D) Spiy Qumgev.

"~ The evolutionary history of horse represents a very good example for

A) adaptive radiation B) extinction

C). orthogenesis D)  specialisation,

181,

182.

Bubess Caiey aget Cué GuieHng 2

A) ®@Hobud B) dlpHlesd

C) saitodfi D) Q1 HEIBN .
Natural selection operates upon

A) family B)  species

C}  individual D) population.
BCurLriralealsb aperar ouglius_wres QETEmLgl

A Qg aguiflue) B} wySue

C) @pbloe D) @eoeu emeiBgid.

Neo-Darwinism is mainly based upon

A paleontology B)  genetics

183.

C) environment D) all of these.

UePW SHSTGEIT DGl

‘A) BGurelsdls smeuid B)  GuelGurelisgls smeud

C) GleUctoTR: e &TeuD ‘ D) @bl &revd.
The old stone age is otherwise called as

A) Neolithic ége B) Paleolithic age

- C) - Bronze age A D}  Steel age.

[ Turn over
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184. geteonbwrein armha, @ém.ﬁ,@g,rru‘rqsml_m uastlaenend Glareore DLERIS ST

agoand Carpnelsdldipen 2

A Gorm oLl e srhuesey  B)  goredprésd

C) seHterdnL Geman D) Guwé Sed wrbhnbd.

Interdependent genes with related functions form

A) coadapied gene complex B) inversion

C) fitness set D) supermutétion.

185. Quperas Catald oL mshsheraney
| 4a)  Jdepsse aldgb o B) QgrifiyeLwu 5@

Q) Cairay Gar-eriiafluesor D) @ersu aqmcmé@fn.

Natural selection includes

A) survival rate | B) rela_tive fitness

C}  selection co-efficient D) all of these.

186. &psargmid eursdluhisene seuaf :

mpy (A): g @-]O'UIG\)Q 3|§>rj)(‘q, GupuL veasyseflde wLTHUFE FHur@,
Heopsese vppd GolCuessd Qeuddlbe E@eorCu 2 s
Coupur® Glubens Cariey E)-SU)I_QUI‘D &rrgcumﬁrr,éﬂpg. -

smyeotd (R) : @@ efudil L uwty  seaeniy  Qubpae Sifswnrs
sTalu@alpg. GOpHhs ssu@bUY QUDDEM GEDWTS
sreaUBdng idveg woDhE aVRHDE. .

Epsargmiv Ol e sflure ol mwu Caips® :

A} (A whHpd (R @ream@id ¢fl, Cueud (R) eretug) (A) @ sflure alenssid

B} | (A) whmpbd (R) @gs&m@fm gfl, Cueayid (R) aretTugy (A) sﬁ]rj)@_ sflure aflensswden

Cl (Al sfl yerrdy (R) seuny

D) (A seumy eme (R) ef.
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Consider the following statements :

Assertion (A) : Natural selection is the outcome of difference in survival and
reproduction among individual that show variation in one or

more traits.

Reason (R):  Adaptive forms of a given trait tend to become more common.

Less adaptive ones become less common or disappear.

Now select your answer according to the coding scheme given below :

A) Both (A) and (R} are true and (R) is the correct explanation of (A)

B) Both (A) and fR) are true, but (R) is not the correct explanation of (A}
C) (A} is true, but (R) is false

D)  {A)is false, but (R}is true.

2 diflon ufemmogdle Lrrallar auresy Ssrbnealss Gsriiaflas ag 2

A ofs 2 pusd — wrpurld — GETEbaTes eTey Plowssh — Gubas
Gaiey

B) - wrpur® — Geslgraes gera Hlangssd — 8p 2 pupd — Qupeos
Carrey

C) s Lrbuéé] — Qe slpTEme IeTey Hleewssd — orpurh — Qubars
Cairey .

D}  wrpur® — Qubes Csiay — 288 2.husdl — Besblgnas Iene
Hleredgcv.
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Which one of the following sequences was proposed by Darwin and Wallace for

organic evolution ?

A) Overproduction — variations — conslancy of popuiation size — natural

selection

B} Variations — constancy of population size — overproduction — natural

selection

C) Natural selection — constancy of population size — variations — natural

selection

. D) Variations — natural selection — overproduction — constancy of

188.

189.

population size .
Lriafefest uflesorming Camiurigesr qpédhuore G]S].ll.nﬁ'GGDTL'D
A ue aleigsdid sralu@D aés @ piyse LH efleréaelldenes
B) o fflsefer @aruCupss dpomer dlawrs wdinh g
C)  wrur® whnb wFdud upH smsHe Qarear aldamen
D) yhlle gphae sregas wrindpg aaLas mé&q@&,ﬁmgj.
One major criticism against Darwir-fs theory of evolution is that
A} it does not explain the preéence of vestigial organs fcund in many animals
B) it overestimates the reproductive caiaacity of érganisms
C) it does_ not take into account variations and heredity

D) it presses that environment on earth had been changing the ages.

Al gufler aauat sLelle Segorique Homles Garerblé 2 poyser

. Garehler erebrpud Syeupheon Nereumony s md T

A)  yCrrGLmuwre sef B) CargsrCeaige grriQel Beel

C) oowsaGrmeuseliutser D) GQigbycame.
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AL Opariri postulated that colloidal bodies arose in the seas during the

_pﬂmordial stége of the Earth. He referred to them as

: A} protobionts B}  coacervate droplets

190.

191.

C) microspherés | D) gemrnules.

prete uflammo auentéfder g ivofa SCartendls srsfsrugj ETETENT BHFeuid 7
I ,
A) l SLUBHO WHDID G Galwb suemygen

B) smépenL eueniiy whmis G ifl aens sl

:;C]' afleugmub, Sl dine, giesl bHpb LTy haemer LLSTLURSSIS®

..D)-I @sljsdcr&.@m WHpID @wmibdLy-

On_; the basis of cultural evolution, Mesolithic is the age of

A)  tools and cave painting

B) animal husbandry and development of languages

| C}  agriculture, knowledge, use of clothes and utensils

| D_]  bronze and iron.

BT dmenL sefley ﬁ@é‘ré '(Egsrrsmtug Camboiaigy

AJ et QlLsuL. emaur ey B) sufur
C) ‘ aéﬂ ' : ' D} O&rs.
Cﬁt!tle plague !; caused by

A) . rinderpest virus B) amoeba

C') " rat ' D) mosquito.

(107 | Turn over
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192. a@du@u.rr(‘é&rrmrri Cremellev-et gy Guwt '
A)  ybpp Grmi | B) Ggec dlymemGeurom
C) us Iybemd 7 - D) Ry a;@e,e‘u. |
Schistosoma nasalis is otherwise called as
A) c_amcer ' B} nasal granuloma
C) COWPOX D)  Hver _rot.

193. &psmesocupper Cuensdics ufiorPiLED LD ag

A)  oFe B) HAl_smhg selnferd
C) Gyl oy Gy D) @@m ,g{cuisarg'sgjfn.
Which of the following is a table bird ? _
A) Aseel : B} Chitagong breed
C) | Rhode Island Red g D) All of these.
194. @Qbdlurales 2 erer L_&T LTS eTg 7
FAY ypgflullum emwedl B)  syssflilur :L;G’grmﬂ
C) %gﬁirﬁuﬂﬁﬁr Gluflesf] D) gy pgdullur wowrd,
The tropical tasar moth in India is
A) Antheraea mylilta | B) Antheraea proylei

\ .
C)  Antheraea pernyi D)  Antheraea yamamai.

195. Spéaaaicupmer Sifldlllé anreoiu@o w54 ag 2
A) soufleveum Glududlebevr B)  gengGurflen @)t Beverv
C)  CpooSiGLmumeiim o%Guimidlamedlev D) G?udiq Qeorros Gumym srdlSlevevr.
' The pest of rice from the following insects is

A) Pyrilla perpusilla B) Tryporyza incertulas

C)  Raphidopalpa foreicollis D)  Pectinophora gossypiella.

1507 -
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196. Setteu@ib sabhpisener seuarddle Cerens :

197.

1907

 euenitULy Bes el peitenid GSTLILUTET nml TG 2

.  EubosdlCatu smeane. wnaiure @\hes CauasGib.
II. Gaubers 2 aoiancy o Toamhongl Fner Qubiimss Geusn@id.
(L Gpriseen aiifdg DG Qg)asr Qe ety (565 GoustsHib.

V. s@Gas @ &seorny Cuholeratusamanns B\més Gmé&m@ab.

@eubmyelr :
A} Tul@bd efwrerg B) 1uppid I efurertemey
C) I Hlwpge IV sflurarenea D) soasgd sfluraramea.

Consider the following statements with reference to qualities of culturable
fishes :

I. it should be carnivorous in nature

I[I. It should have ability to feed on artificial diet
HI. 1t should be able‘ to resist against diseases
IV. It should be prolific breeder.

Of these statements :

A) I alone is correct B) - [ and lII are correct

.C) II, IIT and IV are correct D) all are correct.

Fpasameuppet Camfifles sramluGd 2 eibm @ sendand g ?
A} ELUIMEBTL. ML B) Gasev

C) aniesley D) Veenog yré.
Whicﬁ one of the following is an indigenous breed of foul ?

Al Wyandottc B} Ghagus

C) Cornish D}  Plymouth rock.

, [ Turn over
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198.

A& e aid cuTsdluhisenen seusd :

ampmy (Al @ @fw @éﬂum), 2igle Hohs OGeauellyd Qearamm. GCariLsdlée

(Bgasfé,éa@ eeubhaEULREDS. |
smyevord (R) 1 CanlLgdlen uiu@dH giwf TeLILEID.
Spsaragd SR e eflurer oSenL_eow Cath0e® :

A) (A wpoid (R) Qi@ ofl, Gogiid (R) arsug (4) elpe sflurer aleréeid

B} (A wvppd (R) @ras@dio &fl, Quepd (R) aeiiug (A) edp@ efluren ellendanen

C) (A sfl gyemev (R) soum
D) (R) s} %GBTITG‘\)‘ (A) seum.
Consider the following statements :

Assertion (A) : The hives are kept in a garden with plenty of open space and

sunshine.
éewon (R} : ’I‘his-rsectlon of garden-is éal]ed Apiary.
Now select your answer accordlng to the coding scheme given below :
A) Both (A) and (R} are truec and (R} is the correct explé.nation of (A)
B) Both (A} and (};2) are true, but (R} is not the correct explanation of (A}
C) (A) #s true, but (R) is false

D) (R} is true, but (A) is false.

{ 19000 |
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199. Sereumid m@@&mm.ammgé]é) Qsrrens |
I Quetsr 6@ L sdledmba ..3,199& Senadler s swrféaiupdng.
II.  Qua s wid B araaen ol dbluamey.
M. Quetr SéE Yidl st QU STebd LpEpeIgID cg*j'&éﬂmm & &S SIS

V. oy6s 4édllle Quemenilar guarab o ol ofleors
2 ciTeng. -

.@mr_b@eh :
A)  Twl @b sflurers
B) Iwpgd I sflurereme
| - C) L NuopHoyo 1t sfurereneu
D). I, 1} hmyb IV shhureaned,

Consider the following statementis :

1. The commercial lac is produced in large quantities by female lac
insect '

- . Inlac insect, females are smaller than males
II. Female lac insect secretes lac tﬁroughout her life
IV. In lac insect, female life span is longer than males.
Of these statements :
A) 1 alone is correct
'B) I and il are correct
C) I, Il and III are correct .

. D} L HIand IV are correct.

: ~ {Turn over
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200. aigaires oifle uTdliy ghuGsan fssdsmeasd QsraiL s®UY B &TLssd

HLGADE 7
A) Lﬂsrrrrsr‘uG’wrn:ngb & Ceved
B)l SlenastvCGomg wip o%ufrsi:é?@ugzb
C)  SerevGorgund wCeuflGus
D) - SerrevGiommund emeueuréie,
Black water fever is a very serious complication of
A) Plasmodium ovale
B}  Plasmodium falcibanun
C} Plasmodium malariae

9] Plasmodium vivax
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Read the following instructions carefully before you begin to answer the questions.

10,

il
12.

IMPORTANT INSTRUCTIONS
This Booklet has a cover { this page ) which should not be opened till the invigiiator gives signal to
open it at the commencement of the examination. As soon as the signal is received you should tear
the right side of the booklet cover carefully to open the booklet. Then proceed to answer the
questions. ' :
This Question Booklet containg 200 questions.
Answer all questions, All questions carry equal marks.
You must write your Register Number in the space provided on the top right side of this page. Do
not write anything else on the Question Booklel.
An Answer Sheet will he supplied to you scparately by the Invigilator to mark the answers. You
must write your Name, Register No. and other particulars on side 1 of the Answer Sheet provided,
failing which your Answer Sheetl will not be evaluated.
You will also encode your Register Number, Suhject Code etc., with Blue or Black ink Ball point pen
in the space provided on the side 2 of the Answer Sheet. If you do not encode properly or [ail to
encode the above information. your Answer Sheet will not be evaluated.
Each question comprises four responses (A), (B}, (C) and (D). You are to select ONLY ONE correct
response and mark In your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the bhest. In any case. choose ONLY ONE response
for each question. Your total marks will depend on the number of correct responses marked by you
In the Answer Shect. -
In the Answer Sheet there are four brackets [ A | [ B | [ € | and { D | against each question. To
answer the questions you are io mark with Ball point pen ONLY ONE bracket of your choice for
each gquestion. Selecl one response for each question in the Question Booklet and mark in the
Answer Sheet. If you mark more than one answer for one question, the answer will be treated as
wrong. e.g. If for any jtem, (B) is the correct answer. you have to mark as follows :

(A1 (€] (D]

You should not remove or tear off any sheet [rom this Question Booklet. You are not allowed to take
this Question Booklel and the Ariswer Sheet out of the Examination Hall during the examination.
After the examination is concluded, you must hand over your Answer Sheet to the Invigilator. You
are allowed to take the Question Booklet with you only after the Examination is over.

Failure to comply with any of the above instructions will render you liable to such action or penalty
as the Comimission may decide at their discretion.

In all matters and in cases of doubt, the English Version is final.

Do not tick-mark or mark the answers in the Question Booklet.
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